11405 WO FRAME STRUCTUIE - oo =+ e e =

EXIN

MECHANICA, -

T H
-
——————————————— e | S
S |
\,\0 [ i
N [ |
o i
[ I
Cerg Htarser ol 3T [ :
[ |
[ !
- i |
| )
| |
i !
I @ & !
| - i I
LNO._| TYPE _ RO REMARKS CLOSERTYPE
1 STL. DR. & JAMBw 1 LITE _THERMA-TRU (TS-206) 221/2°x€-10"__| FIRE RATED (1-3/4" THICK)] DOROMATIC SC 60 & 1/16 UNIT
2 | STL.DR.& JAMB THURMA-TRU (TS- 100} - . SPRING
3 SOLID WD. DR. STL JAMB 1-3/8" THICK NONE
4 | SOLIDWD. DR. STL. JAMB - FIRE RATED (1-3/4" THICK)| DOROMATIC SC 60 9 1/16 UNIT
5 OVERHEAD METAL INSULATED W 3 LITES 12Zx9 NA
6 - 12x10 NA

I GIHERMA CoRE )

NOTE: A PASEACE  DerES ARE N ININOM
3¢ WIDE,

NesvEsS e R

DEKKO LLLC

225 INDUSTRIAL WAY

WAREHQUSE /

SHOP ADDITION

MAIN FLOOR PLAN

SCALE: 1/15" = 1-0"




NEW STEEL STRUCTURE e

Levernead ol

MECHANICAL ||

Ceiling Hi under loft: & -6

SRR S A

£y

STRUCTURE

NEWWOODFRAME.

aise exis (russes
to 12 ceiling height

©

f

&




-t

il Y
“R-30 insuiation Trusses 24" OC with 5/8" sheathing
match existing.

k2x6 studs 24" OC with
1/2" sheathing/ R-19 insul.(match existing).

2

<5" slab w 4" gravel

ﬂ
|

-

Section A-A : Framing extending existing structure Section B-B: Typ Loft framing




EAST ELEVATION

Reinstall window from demolishe
sotith wal

WEST ELEVATION

———

-

<~Siope: 127 v

Il

i

—_——— — — _—— - — ]

D (GHED N GHED I GHED

57

57-9"
Existing strucre & axisting ridge line

173" 14"
Fxis, siructure e ridgg New structure
fihe & walint {raised 2'-67)

Newy Siructure

DEKKO LLC

225 INDUSTRIAL WAY

WAREHOUSE / SHOP ADDITION

ELEVATIONS

SCALE: 3/32" = 1'-0"




|
3 i n i
2y @ o O @ LJ@ i (O ﬂg JHGD ®
E T e el ] el el el T ol el @] £
S 186" =
e _ B e L _______ e ]
CGrade Line
150"-0"
NO. [TYPE ] RO |
1 [Fixed Plate 6'-0-1/2" x 4-0-1/2"
2 Awniing 6'-0-1/2" x 2'-0-1/2"
3 Triple Casement 6'-0" x 4'-6"
4 uadruple Casement 8-0" x 4'-6" N
5 Twin Casement 4'-0" x 4'-6"
E  [Existing
NORTH ELEVATION
[ 1
ew roof (2-0" above __ I ;
xis. roof existing) ﬂ Jl
E I A o — 4l |
g dl s B@D s ) = 21'1Imn T
(“Fm:sh Floor | — |
______ ! R _—— —————— . T T T T '
\Maich exis siding @ recessed eniries CGrade Line
DEKKO LLC 225 INDUSTRIAL WAY WAREHOUSE / SHOP ADDITION ELEVATIONS SCALE: 3/32" = 1'-0"




R

% = o — o 0 {@\T_J/@;\L o o
HWH mounted with 84"
T ciearance from FF ——8‘-4%"—
)
5 O
jaes [T
= [:K)
n o
o 0] 7
7S ®
z
z @
|
46 14° X@ 5
© ® N
e
! l" 4. 0 1a 4o 1
=3 29'-55 12 8-45 12 1975 —4 86"
£ 1 - : Tro
S5 5
02 -
==
; w
151
Z___ _____________________________
‘ Coto T AT T T h
& 2% t NO. | TYPE RO REMARKS CLOSER TYPE
g 23 ) |® 1 STL. DR. & JAMB w 1 LITE_ THERMA-TRU (TS-206) 3-2-1/2'x6-10" | FIRE RATED (1-3/4" THICK) DOROMATIC SC 60 9-1/16 UNIT
9 -2 I : 2 | STL.DR. & JAMB THURMA-TRU (TS-100) " " SPRING
2 53 ! I | 3| SOLID WD. DR. STL JAMB 1-3/8" THICK NONE
2 % =) it 4 | SOLID WD. DR. STL. JAMB FIRE RATED (1-3/4" THICK) DOROMATIC SC 60 9-1/16 UNIT
b <2 I ® 5 | OVERHEAD METAL INSULATED W 3 LITES 12'x9 NA NA ]
? L 3 6 " 12'x 14 NA NA
38'-1"
DEKKO LLC 225 INDUSTRIAL WAY| WAREHOUSE / SHOP ADDITION MAIN FLOOR PLAN SCALE: 1/16" = 1'-0"




— — 150 - - e
A . ) . . N - .
e 0 O Yy g — | S L ' =0~
i) & D
| VO 1 HR WALL ® ®
] BETWEEN UNITS
i
H L
] PRINKLED SPRINKLED PRINKLED
| !
a | 3/4" GAS SUPPLIES TO 3
K CEILING HUNG UNITS
: ! : i
| | | T
] L
O JLJ |
L ] 1HR WALL/\
< . ELECTRICAL BETWEEN UNITS ELECTRICAL j
——  PANEL PANEL—
3 NEW GAS METERS | |
\ |
— 7 = T
el . ade | A gup o )
2951 12 i 12 1973 T R S —
k | : 0
SPRINKLED
[
[ no. [ TveE REMARKS
5 HR> WALL. OPPOSITE SIDE NOT g @ | MODINE HDS 100 (Separated combustion) TYPE B 4' VENT SEE ATTACHED SPEC SHEETS
SPRINKLED. ©® | MODINE PDP 100 TYPEB 4" VENT SEE ATTACHED SPEC SHEET B
® | ARISTON HWH MODELP 10S 2-1/2 GAL. WALL MOUNTED (84" ABOVE F.F.
JL EXISTING
DEKKO LLC 225 INDUSTRIAL WAY WAREHOUSE / SHOP ADDITION MECHANICAL SCALE: 1/16" = 1'-0"




1 HR WALL & CEILING THIS ROOM (TYP)_/

(‘UTlLITY SINK
AN

6" PLUMBING WALL—/

AN

ELECTRICAL

ﬁl . ()l—ﬁjJHOT WATER HEATER ABOVE
y _ : - //// 60" \\\
AN | \
O) = ||t DA ()]
© || , —PROVIDE LEG ROOM UNDER SINK
o0

/

> - (NO VANITIES) TYP.

8 CHELVES

N

é_ﬂf— ELECTRICAL

PANEL

PANEL—] /Z
/,J_Ji

R

NOTE: PROVIDE GRAB BARS @ TOILETS

ALL DOORS SHALL BE 36" WIDE
FINISH CEILING HT: 8'-6" IN THESE RMS

DEKKO LLC

225 INDUSTRIAL WAY

WAREHOQUSE / SHOP ADDITION

LAV. DETAIL SCALE: 1/16" = 1'-0"




) O

4 meters (3 for new units; 1 for existing unit)

Oy 2
I " —
i ﬁ\ 83 il i)
) ( UNIT 3
\\‘—// @::@ \\\——// \\~~// \\_,_// ~N—_ _ =y
/
/
/
I
/
/
’ 2
| 7 ==
\\__’// \\‘_’// \\\_// \\"// \\ {
\ ‘\ \
\ \ )
©:\:© ﬂ\ ﬂ \\ \ & E
A
AN
.
J )
)
N _ " \\‘_// \\_‘-// \\\-// \\ v
ﬂ) ﬂ MEL 9 -
Up ap !——
aal : ol .
12 845 12 1975 4—4—A‘\ 8-6

LEGEND:

D
Dp

96" fluorescent
4- T8 32w bulbs / fixture

Wall mounted (over doors)

Wall mounted photo cell

—EL Emergency ilighting

¢ Recessed incandescent (40 w)

& Recessed fan/40w light

NOTE: Provide illuminated exit lights.
3 fixtures in unit 1
2 fixtures each in units 2 & 3

DEKKO LLC

225 INDUSTRIAL WAY

WAREHOUSE / SHOP ADDITION ELECTRICAL PLAN

SCALE: 1/16" = 1'-0" &




110v receptical located

oft FF for wall mounte

Water Heater.

(@
==|re
O

\CED Water Heater.

f

ao:fco o
5 N8

(K

NOTE: NEW UNITS SHALL EACH HAVE
200 AMP SERVICE. EXISTING UNIT
SHALL HAVE 100 AMP SERVICE.

(’\1 10v receptical located 84"
oft FF for wall mounted

DEKKO LLC

225 INDUSTRIAL WAY

WAREHOUSE / SHOP ADDITION

ELECTRICAL DETAIL

SCALE: 1/16" = 1-0"




FOUNDATION UNDER STEEL BUILDING

Steel @ 25' o.c.
S.I.P. panel/ o%8 CCA sil

-

24"

.\—/8" conc. wall
\J1 " rigid insul. & 3/4" plywood

GRADE ——— . wb

1" rigid insulation

/]

38"

T - columns cast with wall
R-30 insulation 4rrusses 24" OC with 5/8" sheathing

3-2x12 header typ. j \ 5 o.c
' match existing. \__/2

'L 2x10 CCA silL— j ‘ 1

2x6 studs 24" OC with n
1/2" sheathing/ R-19 insul.(match existing). y

5" slab w 4" gravel 11" x 24" “blue board”
& 6x6 WWM [ |

-10"-

ol

|

—02"—

Section A-A : Framing extending existing structure

DEKKO LLC 225 INDUSTRIALWAY ~ WAREHOUSE / SHOP ADDITION SECTION SCALE: 3/32" = 10" |,




T T T T T T T T T T T T T T e e e ———— — — —— — |
I |
_ 1
W £-22 “
| c 1
£ 5 _
2 I
| [} 2 |
- ) © o I
in | ) z |
N ! L e . h.W |
“ ”n g © th |
- O iy »n |
_ 20 o °y I
I £y g |
I 28 28 !
I o2 os __
I RS el 1
] ud. = = .¢VIA. |
| = < Q ]
-3 Q
x = =
= » <+ =
<+ ® a3
| - O |
| |
] r I
| ) “
QO =
“ -3 "
o %
" =3 |
=22
- _ s .
in | n =2 |
Y] ] o I
| o3 |
| o |
] g9 )
X >
| o m ]
“ ¥ |
I z 5
_ % _
| N = |
llllllllllllllll -~
2 0 5
llllllllllllll mU||||||.II-||II:|.||I.||||.|||I
! ¥
i
|
"
I
|
]
|
|
ib !
q I
|
|

i

4"x24" thickened slab (to 10")
with extra layer of WWM

la ¥~
oJ

|
_ L
LAdad
_ A/\A
|
|
|
| —_
| m.z@
) o .=
I ° MuW
I S ©
| & 33
.z E
|
1]
| K mw
) G )
) X D
L
“ £
j o
__ =%
3 (o]
i AN
“ b4
|||||||||||||| o [
)
| []
.
«©
B
I =
| o
“ o3
\ 2
- L
] [o]
2 r

-
|
4

"x24" thickened slab (to 10")
with extra layer of WWM

|
g:

T
-
___<-.._____..______.._.._j‘b___-—__---__--_—------q“liL-——————-_——-—-—--___-_-ﬁl__....___._______..________

—__“_____——_“‘_““_—1J”'_Eii:’”'==—
2"x10"

HHNLONYLS

xisting foot

7of)

SCALE: 3/32"

FOUNDATION

WAREHOUSE / SHOP ADDITION

225 INDUSTRIAL WAY

DEKKO LLC




=k
7

|
&

I

g RN

/]
[/

DEKKO LLC

225 INDUSTRIAL WAY

WAREHOUSE / SHOP ADDITION

LOFT PLAN

SCALE 1/16" = 10"




=20

a% B

S




General Notes:

1. PROJECT IS LOCATED WMTHIN THE CITY OF PORTLAND.

2. TOPOGRAPHIC INFORMATION FROM A GROUND SURVEY 8Y JAMES D. NADEAU, LLC.
DATED JULY 6, 2007.

3. THE PROJECT IS SUBJECT TO MINOR SITE PLAN REVIEW APPROVAL FROM THE CITY
OF PORTLAND.

4. THE CONTRACTOR SHALL BE RESPONSIBLE FOR NOTIFYING "DIG—SAFE" AND LOCAL
UTILITY COMPANIES AT LEAST 3 BUSINESS DAYS, BUT NOT MORE THAN 30 CALENDAR
DAYS, PRIOR TO THE COMMENCEMENT OF ANY EXCAVATION, OR AS OTHERWISE
REQUIRED BY MAINE STATE LAW.

5. THE CON‘I’RACTOR SHALL BE SOLELY RESPONSIBLE FOR ALL MEANS, METHODS AND
TECHNIQUES EMPLOYED TO PERFORM THE WORK SHOWN ON THESE PLANS.

6. ALL WORK SHALL COMPLY WITH ALL LOCAL, STATE AND FEDERAL SAFETY
REGULATIONS.

7. ALL WORK SHALL BE IN CONFORMANCE WTH THE CITY OF PORTLAND AND ALL
UTILTY COMPANIES STANDARDS.

8. CONTRACTOR SHALL VERIFY LOCATIONS AND DEPTHS OF ALL UTILITES WITH THE
RESPECTIVE COMPANY PRIOR TO THE START OF CONSTRUCTION. IF ANY
DISCREPANCIES OR CONFLICTS ARE FOUND, THE CONTRACTOR SHALL NOTFY THE
ENGINEER AND OWNER PRIOR TO PROCEEDING,

9, THE CONTRACTOR SHALL SECURE ALL NECESSARY CONSTRUCTION ACTIVITY PERMITS
FOR THE WORK SHOWN ON THESE PLANS PRIOR TO CONSTRUCTION.

10. NO BLASTING WILL BE ALLOWED WITHIN 500 FT OF ANY UTIUTY WITHOUT THE
NOTIFICATION AND APPROVAL OF THE APPROPRIATE UTILITY COMPANY. NO LEDGE
BLASTING WILL BE PERMITTED WITHIN A UTILITY COMPANY EASEMENT UNTIL WRITTEN
APPROVAL FROM THE UTILITY IS GIVEN. BLASTING OPERATIONS SHALL BE IN
ACCORDANCE WITH MAINE DEPT OF ENVIRONMENTAL PROTECTION BLASTING
REQUIREMENTS AND SITE LOCATION OF DEVELOPMENT APPROVAL ORDER.

1. ALL PAVEMENT CUTS SHALL BE SAW CUT TO RESULT IN CLEAN EDGES. A TACK
COAT SHALL BE APPLIED ALONG THE CUT EDGES AND NEW PAVEMENT BUTTED TO
IT, UNLESS OTHERWISE DIRECTED BY THE ENGINEER.

12. THE CONTRACTOR SHALL BE RESPONSIBLE TO RECLAIM OR PROPERLY DISPOSE OF
ALL REMOVED BITUMINOUS MATERIALS.

13. CONDUIT SHALL BE USED FOR ELECTRIC, TELB’HONE AND TV IN ACCORDANCE WITH
THE RESPECTIVE COMPANIES REQUIREMENTS.

14. ALL EROSION & SEDIMENT CONTRCL MEASURES SHALL BE INSTALLED &. MA!NTAINED
IN ACCORDANCE WATH THE
M.

SPECIFIED OR INDICATED ON DRAWINGS
15. REFER TO ARCHITECTURAL PLANS FOR BUILDING DIMENSIONS.

AND AS OTHERW!SE

“Approvals:

* CITY OF PORTLAND (MINOR SITE PLAN REVIEW)

Lot 7 Evergreen Industrial P

Utilities:

* WATER: PORTLAND WATER DISTRICT

* SEWER: CITY OF PORTLAND DPW
* ELECTRIC: CMP - TERRY S. BRADISH

* TELEPHONE: VERIZON - GEORGE HILLMAN 207-797-1798

Minor Site Plan

Review Application

2 .
Badin Stw:.

Locus

225 Industrial Way
Portland, Maine 04103

Prepared For:

 Woodworking & Cabinetry, LLC
40 Portland Pier #11, Portland, Maine 04101

Legend

EXSTNG EROPOSED
-————- CONTOUR N
s SPOT GRADE
— A —— PROPERTY UNE R e

——— = — ROADWAY CENTERUNE — - —— . —
BUILDING SETBACK
EDGE OF PAVEMENT

— BT CURS
(it | BUILDING
~— —s$s— —  SANITARY SEWER
— —SD— —  STORM DRAIN

[
e WATER MAIN
—— OH———  OVERHEAO WIRE

FOUNDATION DRAIN
UNDERGRND ELEC,
TELEPHONE & CATV
ol UTIITY POLE/GUY
=] CATCH BASIN
o MANHOLE
Ros HYDRANT
b GATE VALVE
TRANSFORMER
RIP RAP

SIDEWALK RAMP
STONE WALL

STONE CHECK DAM

EROSION CONTROL MATTNG B33

* UIGHT FIXTURE /BASE

FLARED END SECTION
STANDARD CLUVERT END g

AL wemanos

WETLAND IMPACT W é/z ﬁ

o GRANITE MONUMENT
° IRON ROD SET .
TOP CURB/BOTTOM CURB =
WATERMAIN CAP /GV/BLOWOFF —+.m Watq— 980
GUARDRAIL S-——0—=0
~Y TREEUNE 7YY
BUILDING NUMBER B8-1
4.’¢_ TEST PIT
WALKOUT UNIT w.0.

TO BE REMOVED TBR

Index Of Sheets

SHEET #

0 COVER SHEET

(Lof1) SUBDIVISION PLAT
1 EXISTING CONDITIONS & REMOVALS
2 SITE PLAN
3 DETAILS
4 PRE-DEVELOPMENT DRAINAGE
5 POST-DEVELOPMENT DRAINAGE

* GAS - NORTHERN UTILITIES

Sie pAv ey LIGHTS
7 S OF tepwikts (k7 )+ ToES

’

et s

Project Team

Engineering, Permitting & Landscape Architecture:

STANTEC CONSULTING SERVICES, INC. .
22 Free Street
Portland, ME 04101

(207 775-3211

Survey:

James D. Nadeau, LLC
918 Brighton Avenue
Portland, ME 04102

iy,
S OF 10,

Issue: 11/30/07 Revisions Per City Review Comments
Issue: 09/28/07 Minor Site Plan Review. - City of Portland

04101-3900

Stantec

Stantec Consulting Services Inc.
B 22 Free Street, Suite 205
Portland, ME U.S.A.

7/ Te. 207.775.3211
: fax. 207.775.6434

Drawing 0
195410273




L]

} DOUVGLAS BRAS -

General Notes

co., I .
rOBERT M/’r/z/f:f-’—“ v _ ) . L RECOBD GWNER. & DETA. REAUY G0 'NC- AS

. RECORDED 1k TRE CUNSBERLARD COUMTY REG (STRY
,p,-(ug-d;’ OF DEEPS 1IN BLOOK 6466 Page 108,

; (s
his e was Saterminad by e line afﬁmﬂ LA,
- e — GE—— 195 .00 . . 2. PROUELT PEEA 15 tocATED M Te T-1 Zom
- I PISTRICT ‘lq

casermenT  (PRVATE)  / .ol

PN
1148 04 Jeed 4Im’?(i‘\)
s4/con oo E | I4B.0d4TomE iy

] /
278 .01 (o
3 BO' DRAI/INAG E [

Z. PROVET Alen: Lexs 8,34 A
2osap Row ST Ac
T 825 A,

Al
T

’
Z

o

N

[
'[:nnmaés AL

1

1PF (USED —
# - eme— * . —_——e——| 1 {
85.00 e e

©7.62
4 TOPOGQRAPINC | NmoRMATIIN PREPARED BY (ANDUNS

CONSOLTANTS FEOM ON-SITE 1D SUBVEY,

- Rre 106

5. PERIMETER BOUNTS PROM A SURYEY Feg Daga

PEATY Co, NC. BY LAND USE ComsurmansTs

Jawes H. M‘NUSTE, Rl #1263

© JERAMITE RIGHT-OF \ammY aoMUMENTS Tt B SeT
g B INSIDE THE RISHT OF wiy per i oF
PORTUAND STANLRRLS,

7 Al TELETHACNE AHD CLELTRI SERUICE LINES SKalt B
INSTRUED ABLYE SCOYAD,

B AL LTILUTY INFOERIAROD SUPBUIED @Y LTnITy (o) —
PRUIES RUD IS APPRCXINIITE OLY

P. AU CONMSTRUTION TO COMR M LoiTrt CITY SF Pl
PUBllc WOLES STRNOAZLS.

BOKHMARR
AL piTREE oo ———

Lrwith P e .
ELEV. 6874

7
1
[
[
1
!

t

i

1

1

Y 4 ’I

id l.e1AC.

- n
~
—

\ assomao Sreesr o

0. RETFER. T CUPw@ERAND counTY RS/ TRT O O/
Aar Lo 136 PROEST Fee arlo/nm. BUBE vySsor—
RRNE RRLEVTRGRTZ) [MowSTRING. f3mes. 13, NPPEAD
8Y THE PORTND FLANN 186 BoRkD dn €//2/35
i SRONO AMENDMENT cenN$ISTS OF RDDIA
ROD'C RORD R.O.W. FOR TURNP IKE JNOUSTRIAL]
PARK gond THE REMOYAL OF DRAINAGE
ERSEMENT  ZOT IN LOT 7. NEW (e aRed
FOR LOT 7 AS SHowal.

ciry oF

N ,lf—;mg

N % = -
g e
Ii'}ai’q-ao \ ‘

g e

N
YO Legend
N Existing Proposed
Vv — . — PROCE RIS L (NE
c% o 120N PIPE MONUMENTS o
3. GRANITE M ONUMENTS
ey’ < oM ToVR- —_—e
€131 SFOT GRATE
— W ——  warer — ¥
_— @as _ ——a
prioR LoT AREA _jO- UTILITY gLl
: ‘9:?' ———  SANITARY SEWER — ... P
AMErines LoT AREA O SANITARY wANROLE Owne
3 Ofa
31455
K
3 MREDY CCQUFY T FLXTLAND JEMTURE PARTHERS
“ EXLUSIVELY THAT THIS VLA DEPKTS THE RESLLTS OF 4
2 FISLO SRVEY MADE 2. JLUE 19pl AUD (S CORRECT PR D
ASEROIMG TC THE BEST 2F MY KNOWLELSE, INFORMATON
AND BE LIEF AND THAT THE SURVEY AND PLAN CONFORMS
T8 A CATELORY T ce NOITIEN JI SURYEY AZLORDNG
TC THE STAMOARDS OF THE MAINME. BOARD &
| 1 N < e N N Wy .- B O - G . 1 REGISTRATICN FOR LAND SURVEYZRS.
i ! EXCEPTI) s | REFEREWCE WOTE 1&
! 2) CERTIFICATIONS APPLY LMLY T 0T 3 7
FedB.yoer L ol WM S
DATE. " MAIE . REGISTERED LALD SURVEYCR
202 LAMDLSE. COMSULTAUTS, TUC -
® PLRTLAKD, MAIUE: DATE: - &2y l REVISIONS. ot 7 msTES
© ~ H -7 i
5 N Location Map .- Evergreen Industrial
heq ] N SCALE: 1"=20000 .-~ POI'k
@' S - ! Wl
D1 - H Riverside Street Portiand , ME
— " .
R~
Jee|go Second Amended
é ~. 26525 - St
- N Subdivision Plat
.. [ . .
/ _ City of Portland Planning Board e oy
. . o Realty Co.
Approved Date £E®0 ®, g 999 Forest Ave
- Portland, ME 04103
) / gz - (
¢ k ¢
—,zg(, . DATE: z- 3-87 JOB NO: 1a3)
7 .

' , 2o

DRN:GF | CHK: 5@ | FIELD BK® |25

RIGHT o WAY L4
< ~. —

st & ta' K — ' | s e i) g ——
uf—”—"‘—Tm"' T paEENT Taverment ™ T SAsEAENT } \\ ( SCaALE: ("= 5o SHEET « OF 1
. VAN, N
ANALE CORSTRUCTION {\ D FEET
) . i s bm;/ \ \‘;% ol a L o 50 100 /50
- NS [ ey ——
. _ : ,
Siturinsus cone. PAVING - / ; » é{ -~ ) o 1C 20 40
GRAVEL SHOULPER. WALE CONSTRUCTION u - el * WMETERS

e
\, /‘\/s,,r M A MUM TEPTH &
~ pifien

7
/ i 3 €ED 1D W _
N Typical Road  Cross Section Cerm e 5 S S YAty

NOT 10 SCALE



http:t:1\llin.....�

PRV v RO FIPE
(23" UP & BENT)
CArpED RON
RESBAR§ 1155

(8" uP &

NET&Y 2

TWO IRON
PIPES FOUND
1 1/4 & 7/8)

‘—_‘——__\_WURAINAGEtSEVﬂEASBIENT\

AN ==

— —1ss— — —

S _W/

LOT 6

6°X6" GRANITE
MONUMENT W/SURVEY
N\ CAP {155 (8" UP)

||

DRAN |
RIM BLEV.AE7,T

INV. IN ='83.5"

INV, IN = 3.5

INV, OUT = 63.4°

()

INV. IN = 648

RON REBAR
(6" UP & BENT)

SEWER (TYP)

RiM ELEV.=80.7"
INV. N = 82.4
INV. OUT = 62.3

RIM ELEV,=68.0"
NV, N = 60.2'
INV. OUT = 60.1

RIM ELEV.=68.1"
INV. IN = 50.8"

Portland, Maine

' Evergreen Drive & Industrial Way

July 6, 2007, Revised November 2f & 29, 2007
By James D. Nadeau, LLC

CAPPED IRON
REBAR #1155
o uP & wm

LOT 5

PFC-302—-D 1989.

Approzimate boundary lines based on plan entitled
” Evergreen Industrial Park, Riverside Sgreet Portland,
ME, Second Amended Subdivision Plat,
Co., 999 Forest Ave., Portland, ME 04103”, dated

-~ February 3, 1987, by Land Use Consultgnis, Portland,
Maine and recorded at the Cumberland]County Regisiry

of Deeds in Plan Book 160 Page 66.

Delta Realty

PROGRESS PLAN

" NOT FOR CONSTRUCTION

THIS DOCUMENT 1S ‘ISSUED FOR
INFORMATIONAL PURPOSES ONLY.
THE DATA SHOWN HEREON

IS SUBJECT TO REVISION.

- Elevations based on NGVD 1929 per Survdy Control Marker

GRAPHIC SCALE

3 o It £ @

I ™ ™

1inch = 30 ft

22 Free Streel, Suite 205
| Portiond, ME U.SA

N 04101-3900

)7 Tel. 207.775.3211
Fox. 207.775.6434

> Stanlec Consulling Services Inc.

W7,
\\\\\\ Iy,
W %/,,’,

%,

My

W
Q
it
NWOOD

W
e

L:.\,
SHRALL

)

W
\\\\\
8%
ol
‘.
\

©
”///mm\\\\\\\\‘

LOT 7 EVERGREEN INDUSTRIAL PARK
225 INDUSTRIAL WAY, PORTLAND, MAINE
) PREPARED FOR:
WOODWORKING & CABINETRY, LLC
40 PORTLAND PIER #11
PORTLAND, MAINE 04101

Date
[11/30,/07]

Revision

REVS PER CITY REVIEW COMMENTS

PJP
30
09—28-07,

1"=

Designed | DM

Drawn
Scale
Date

PRELIMINARY

.| Checked LDM

EXISTING CONDITIONS
& REMOVALS

Job No.195410273

Sheet




o

FORSYTHIA SPECTABILIS

6-8' 0.C.

"MEADOWLARK FORSYTHIA™ 2~2.5" HT. CONT.

GRUB AND REGRADE:
EXISTING DITCHES (TYP)

e L o cemp i

4~ACER RUBRUM "OCTOBER GLORY"
RED MAPLE 2-2.5" B&B 30" 0.C.

5
—_—

— /6 — — ——_ __

,ﬁ_—_—x-—f 7 ]

: \ _ Rﬁ:mmnzmcgzg
\ F’\. U
\\\ FFE= 70.05°
\
\ o
P Ay
: 5 $ 2
N s P = g 3
S
s /
= £
e 5
£ s
3 | e ) s . ¢ .

— e ——

T X\ \x% \H_._:—————-—————_ﬁl\
- = = 7 — 7
e 12°W = v /[j ‘\ A ity

e — wa/— /_INDUSTRIAL WAY_ _ _ XK

N - STONE CHECK DAM (TYP)—-\ %

- i — = ——— ~

=g A —
o 2 S
EXISTING GRANITE CURS \
. . FRONT SETBACK LINE
ENTRANCE )
——
7

/PROJECT DATA:

o

OMESTIC SERVICE
FIRE SERVICE

?0 7 u 4
_/ 2 /7 :
Tt B o

EXIST. PIPE INVERT=65.99"+ /=

_—— ~ 2" —f

1. PROPERTY IS LOCATED IN THE IM ZONE (MODERATE IMPACT INDUSTRIAL)
. PARCEL ACREAGE: 1.37AC (59,677.2SF)
. SPACE & BULK REGULATIONS:

REQUIRED/ALLOWED - PROVIDED

MIN LOT AREA NONE 59,677.2SF
MIN STREET FRONTAGE 60’ 314.46'
MIN FRONT YARD SETBACK 1/1 BLDG. HT. 72.04'
MIN REAR YARD SETBACK /1 BLDG. HT. 35.66'
MIN SIDE YARD SETBACK 1°/1 BLDG. HT. 82.80'
MAX. BUILDING HEIGHT 75 ‘
PARKING — WAREHOUSE DISTRIBUTION: 1SP/1000SF. 10 SPACES
. MAXIMUM IMPERVIOUS SURFACE RATIO-75% 25,868 SQ. FT._ ..
59,677 SQ. FT.

WETLAND FILL 3077 SQ. FT.

- \

PROGRESS PLAN
NOT FOR CONSTRUCTION GRAPHIC SCALE

THIS DOCUMENT IS ISSUED FOR 3 18 30
INFORMATIONAL PURPOSES ONLY.
THE DATA SHOWN HEREON
IS SUBJECT TO REVISION.

1inch = S0 1t

PRELIMINARY

g
8
£
L
£3g
2 .UO
53¥g
ggEL
§g?
A3

Tel. 207.775.3211
Fox. 207.775.6434

Wy,

%,
",
\ 2
D. 3%

H

F]
:‘3 =
S
N

gy,
)

Wxeor

?“
LYNWCOD

Km

Q)

N
LA

LOT 7 EVERGREEN INDUSTRIAL PARK
225 INDUSTRIAL WAY, PORTLAND, MAINE
PREPARED FOR:

WOODWORKING & CABINETRY, LLC
40 PORTLAND PIER #11
PORTLAND, MAINE 04101

Date
11,/30,/07

Revision
REVS PER CITY REVIEW COMMENTS

PJP
= 30'
09—28-07

E 1"

Designed LDM

Drawn
Checked DM

Scale
Date

SITE PLAN .

Job No.195410273

Sheet




TRENCH SHALL BE CROWNED 3't

@ TYPICAL WATER MAIN SECTION THRU EARTH

UTL-N-TOHH/N-85

FLUSH TO FINISH GRADE:

or—|

&

'.._-

STREET

Y

DR
/2P HD GRLY BCK RAL
A SP MDIE ML P-T

1’8" ROUGH-SAIN SPRUCE BOWRR,
TOE-RALED W/2-POREY WO GALY BOX KAL

AW 5P BOTIOM RAL, P-T

[

c=C
WOODEN DUMPSTER ENCLOSURE W/GATE

0-D E-£

LS-FINCE-O00-OUMPSTERAI-00

ALL NEW UTIUTY SERVCE LEADS SHALL BE INSTALLED TO THE RIGHT-OF-WAY LNE. SANITARY SEWER
SERWCE LFADS SHALL BE 6-INCH DIAMETER: STORM DRAIN SERVICE LEADS SHALL BE 4-INCH DIAMETER;
A TED

AN VIEW — EX. CON. TO NEW PIP|

FERNCO ADAPTOR FOR CONNECTION TO
EXSTING LATERALS (ONLY)

6 FEET MIN.
OR TEE WYE
e T

ELEVATION VIEW — NEW °Y" BRANCH |

TYPICAL SEWER SERVICE LEAD CONNECTION

NOT 10 SCRE

FINISH GRADE AT ROAD AND PARKING

GRAVEL SUBBASE

SECTION

VERTICAL GRANITE CURB
T 10 SCHE B -CAMTE-RTIR/ 438
; D07 T e
] R,
~———— COMPACTED SUBGRADE
GRAVEL DRIVE v

CRO! ON_OF DRAINAGE-~WAY

CROSS SECTION OF CHECK DAM A~A

NOTES:

1) ONCE THE AREAS UPSTREAM FRON THE CHECK DAM ARE STABILIZED BY VEGETATION, THE
SEDMMENT TRAPPED BEHIND/WATHIN THE DAM SHALL BE RELOCATED TO AN AREA UNDERGOING
FINAL GRADNG.

2) THE CHECX DAMS SHALL BE FLATTENED AND GRADED IN A MANNER WHICH PROTECTS THE
AREA FROM EROSION AND CHANNEL BLOCKAGE. (GEOTEXTILE MUST BE REMOVED).

3) THE GEOTEXTLE SHALL BE DISPOSED OF OFFSITE.
4) THE MREA. CONTRBUTORY TO THE CHECK DAM SHALL NOT EXCEED 10 ACRES.

TEMPORARY STONE CHECK DAM IN_DRAINAGE-WAY

O 1O SCALE.

BACKRLL
646" TRENCH

LY.
ST
RN
NN
SRR

@ PREFABRICATED SILT FENCE

T ScAE

@ CONSTRUCTION ENTRANCE

BITUMNOUS CONCRETE Y0P COUR!
HDOTNMTIIXMNLTFW
BITUMINOUS CONCRETE BASE
DUINIMIXMIL\‘W
CRUSHED GRAVEL BASE, MDOT 703.06 TYPE A

GRAVEL SUBBASE, MDOT 703.06 TYPE D
o SToRes 3 89

NOT TO SCAE

' @NEW BITUMINOUS CONCRETE DRIVE & PARKING

BROAD-CAST SEEDING:

- 060 LBS/1000 SF KENTUCKY BLUEGRASS
~ 0.30 LBS/1000 SF CREEPING RED FESCUE
~ 010 LBS/1000 SF PERENMAL RYEGRASS

LOAM & SEED

HOT 10 STALE

PAVED AREAS LAWN AREAS

PAVING BASE AND TOP COURSES
| A AS DETARED

SURFACE 70 BE GRADED, LOANED &
SEEDED UNLESS OTHERWSE NOTED

AGORECATE BASE COURSE IN PAVED AREAS
(SEE SURFACE PMISH DETALS)

VARES

APPROVED BACKFILL, NO STONES LARGER
8 THAY 4° DIA. (HDOT 206.03)
g
=
COMPACTED SAND
2 | /7 bigeuent
i ' -
SIZE & MATERIAL VARIES DEPENOING
ON LOCATION (SEE PIPE SCHEDULE)
glyg MIN 10° CLEAR BESIOE PPE
s (12" W N LEOGE)
- .01; \_ \——— 3/4 CRUSHED STONE EMBEDNENT
3/4° CRUSHED STONE BEDDING
4AX. WDTH 1S PPE DIA. PLUS 24"
wrmrgsmwrom.m
gimmsmm“bw&m

SANITARY SEWER BEDDING DETAIL

T TO SCALE §T-PPE-TROKH-HDPE/ 4~

FINISH GRADE

g
L
g3

|

CONTINUOUS PLASTIC MARKER
TAPE PLACED 12" BELOW ANISH
GRADE

24" UN

CLEAN BACKFILL CONTAINING
NO ROCKS LARGER THAN 5° DIA

42" MN
"

TELEPHONE AND CABLE TV

SECONDARY OR SERVICE CABLE
PRIMARY CABLE
SELECT BACKFIL (SEE SPECS.)

NOTES:
1. INSTAULATION SHOULD NOT ALLOW THE INTER-TWINMG OF CABLES.
2 BEDDING AND BACKFILL SMALL BE FREE OF ROOTS, STUMPS AND OTHER DEBRIS.

3. INSTALL SCHEBULE 40 CONDUIT UNDER ALL FAVED AREAS PER APPROPRIATE
UTILTY COMPANY SPECIICATIONS.

@WICAL UNDERGROUND CABLE TRENCH

-6 TR

22 Fres Streel, Suite 205
Portland, ME U.SA.
041013900

Y Tel. 207,775.3211
Fox. 207.775.6434

LOT 7 EVERGREEN INDUSTRIAL PARK

L

Zz

<

= o

R

% 3
PO

S kRS

= bhoox
Lun:o

%gZuu

CLL._QE.Z

- alan<

> g‘a%:.

<<_5.

= B2gs

I =595

g Z°E

= Q

(%] %*8

=2 (o}

a (@)

z =

n

N

N

i Ny
|2
oS
Q-—
3
3
=
Lt
s
L)
3
c[E
20
Bl
é'&'
2
4
™|
wjo
=1
Sl®
=|=|1Z|a|Y
ElEIE] !
21512 olg
Bl |o|Z
2 @
Siclxtoe
HHEE
8|2|<|3|T
olalS|n|a
w
—
<C
=
Lt
(]

Job No.195410195

Sheet




. £
5
1 \ -~ g 8
= < - ey
Sen o £33 53
\ @ | i
s 28 H 2 §'8
AN §E28YY
. aNg3IFE
LOT 8 - | A8
oRaN waHole |- ;
INV. N = 84.0° : RM ELEV.$67.5' ' R
| mv.mne.:‘ . LR
INV. IN = 63.5' .=68.0" . .
(ﬁ o 1% INV. OUT = 83.4' ok e ) : s
\TE BENCHMARK VU= 60 S,
6" SPIKE 2 ABOVE o 7
GRADE IN BASE OF : o
CMP {~ELEV.=70.02 E N - %
4 1/4" IRON PIPE Rk ELEV.=68.0 3/ 32%
e o ,‘ | TR = 8
REBAR§ 1155 - - _ TN INV. N = 59.8° E § &
(8" UP & BENT) .=69.4 3 WV U7 = 59.77 Yl 8S
e » 2 A
T —— i
ey S e ~— _ SN
= = : ; : T X
’ : - g INV. IN = 67.7 : : ; g B ‘ S m— . ¥
—————— ' T iNBISTRIAL WAY |V . o~ _ — 2y
NET&T 2 LBoXES ; / TT— . - oz -
—_— - = (&)
T <5 o
—— _ < % d
. — gz >c5
n é g w3
oo BE oS
ol FEBARS INV. QUT = 63.6' . & = L,
WO §5 R o %D- 830‘5
RIM ELEV.=68.7' — ~a00no<L
NV, IN = 610" > a8z
INV, OUT = 609' Z < EIZT
M= hoeg
a FZxZ
= zee
rE Sok
. £Q0
gy gve
LOT 4 oa 8
Z =
6°X6" GRANITE NONUMENT ~ o
AVED PARKING —
Ie) o
/ =4
. | T
WETLAND ) ®
V. IN = 649 gﬁ
IRON =
5‘ uP :EBGE?I) 12
o
=
CAPPED IRON ; SEWER (TYP) §
REBAR 1263 | 7 ) ; RIM ELEV.=69.7 3
(5" uP) INV. IN = 624"
L K INV. OUT = 62.3 2
[
TWO IRON cle
PIPES FOQUND — —— — o=
RIS xv/a')\ e B B g
" S (& |
(g
o
i
T~
7
<lo [=[BI®
IR N é
HEE
: / S\5[3|2| o
alc|e|o|8
. 3|5[5|4(8
LOT 6 | ~ LOT 5 ,
~
S~ _ —
&
).
=
VA T W
3| 5S¢
4 L—‘IJ <
L > Z
14 W <€
o
| O
I
o
NOT FOR CONSTRUCTION GRAPHIC SCALE oo o 199410273
. THIS DOCUMENT IS ISSUED FOR P i © HRBL
INFORMATIONAL PURPOSES ONLY.
ik = = —
IS SUBJECT 7O REVISION, 4
. 1 inch = 30 ft




1 1/4" IRON PIPE
(zs'waatm‘)
APPED {RON

REBARY. 1155
(8" UP & BENT)

NET&T 2

oL

IRON REBARS
Rt (18" UP)

AVED PARKING

CAPPED [RON
REBAR #1263
(5" UP)

TWO IRON
PIPES FOUND
Q14 &7/80

"MEADOWLARK FORSYTHIA" 2-2.5' HT. CONT.
C.

4—ACER RUBRUM "OCTOBER GLORY"
RED MAPLE 2-2.5" B&B 30' 0.C.

INV. N = 640

#5 JRON REBAR
(#3 UP & BENT)

St
GRUB AND REGRADE = SPIKE 2' ABOVE
BASTING DITCHES (TYP) QRADE B OF

ok

89

70

LOT 6

-
67 wa;n )
e e =
1\\7( P

EXISTING GRANITE CURB

mmrzm ’
ISTDRY

STOP SIGN §lﬁ/
FRONT seTBAck LNE NN\, g/w

o 00 D‘POiNT OF INTEREST ———

/
o - / /
74 AN (
. .:. 7
; FIRE smwim ‘\V \
= EXIST. PIPE INVERT=65.09'+ /—
CMP 5
W/ up

‘xc' GRIN\‘TE / /

@/ 5/

INV. IN = 635" RIM ELEV.=68.0'
INV. OUT = 63.4° INV. N = 60.2
INV. OUT = 60.

RIM ELEV.=68.1"
\ V. IN = 59.8

- —
\‘

WATER VALVE
P 4
/ uP

. ELEV.=67.1"
/ NV, N = 63.7"

é‘, INV, OUT = 63.6°

RIM ELEV,=68.7"
INV. IN = 61.0'
INV. OUT = 60.9"

LOT 4

6°X6" GRANITE MONUMENT
W/SURVEY CAP §1155

em PROJECT DATA:

- PROGRESS PLAN -
NOT FOR CONSTRUCTION

THIS DOCUMENT IS ISSUED FOR

FIRE(HYD?ANT
(TYP)
1. PROPERTY IS LOCATED IN THE IM ZONE (MODERATE IMPACT INDUSTRIAL)
. R R
INV. IN = B84, 3 A INS:
REQUIRED /ALLOWED. EROVIDED.
#5 IRON REBAR MIN LOT AREA NONE 59,677.25F
& v & 8ENT) MIN STREET FRONTAGE 60° 314.46'
MIN FRONT YARD SETBACK 1//1" BLDG. HT. 72.04
: MIN REAR YARD SETBACK 1’/ BLDG. HT. 35.66'
L e : MIN SIDE YARD SETBACK . 1°/1" BLDG. HT. 82.80’
INV. N = 62.4' MAX. BUILDING HEIGHT 75
INV. OUT = 62.3"
4. PARKING — WAREHOUSE DISTRIBUTION: 1SP/1000SF. 10 SPACES
5. MAXIMUM IMPERVIOUS SURFACE RATIO-75% 25,868 SQ. FT. _ .
59,677 SQ. FT.
5. WETLAND FILL 3077 SQ. FT.
CAPPED IRON
REBAR #1155
(4" UP & BENT)
CAPPED IRON
REBAR #1155
(11" UP & BENT)

GRAPHIC SCALE

0 ) » [
IM’ORMA'II INAL PURPOSES ONLY.
THE DATA SHOWN HEREON
IS SUBJECT TO REVISION.

1 inch = 30 ft

§
28
i

3
H
:

Te. 207.775.3211

‘.‘ 041013300
Fax. 207.775.6434

\\\\m‘t;gm”/,,,/

W
e

W
N
G

%

Y,
Z

LOT 7 EVERGREEN INDUSTRIAL PARK

Ll

z

<

= o
o |

d' -

2 Xcs

E G

%..%go
z &0

£ E2ay

- Q

L

L 39

- BeES

Jd asS o<

N

o

(%] 2*8

]

a 3

z =

n

N

N

=
20
33
g
e
|5
2
(2]
e
@
x|
=
2
™~
- |©
(=1}
"8
KR
90..4‘,_0)
o (=]
3
e @
E;'él’e
2|212|8|s
Qlajloin|ia

PRELIMINARY

POST—DEVELOPMENT
DRAINAGE

Job No0.195410273

Sheet

5




AN N ML INV T L O

1. THE SEAL THAT APPEARS ON THESE DRAWINGS IS THE SEAL OF THE
ZNGNEER FOR THIS BUILDING MANUFACTURER WHO IS NOT THE ENGINEER OF RECORD.

7. CERTIFICATION RESTRICTION:

ENOINEER'S CERTIFICATION 1S STRICTLY LIMITED TO STRUCTURAL
COMPONENTS DESIGNED AND FURNISHED BY THIS BUILDING MANUFACTURER
CERTIFICATION EXTENDS ONLY TO THE DESIGN LOADS AND STANDARDS
INDICATED ON THESE PLANS. CERTIFICATION DOES NOT EXTEND TO
FOUNDATION, MECHANICAL, ELECTRICAL, PLUMBING, FIRE PROTECTION,

CML WORK, ARCRITECTURAL RESPONSIBILITIES, OVERALL PROJECT
COORDINATION, OR OTHER ASPECTS OF CODE COMPLIANCE NOT
SPECIFICALLY REFERENCED BY THE MANUFACTURER'S ORDER DOCUMENTS.
CERTIFICATION SHALL NOT EXTEND TO BUILDING ERECTION SUPERMISION
OR INSPECTION.

3. ANCHOR BOLT DIAMETER DETERMINED BY ALLOWABLE SHEAR AND
TENSION PER AISC (ASTM A-307).

ACTUAL LENGTH, HEAD STYLE AND METHOD OF TRANSFERRING
FORCES FROM ANCHOR BOLTS TO CONCRETE FOOTINGS TO BE
DETERMINED BY OTHERS.

4. FOUNDATIONS MUST BE DESIGNED FOR LOCAL SOIL CONDITIONS BY A
QUALFIED FOUNDATION ENGINEER TO SAFELY SUPPORT COLUMN LOADS.

5. THIS BUILDING MANUFACTURER 1S NOT RESPONSIBLE FOR ERRORS, OMISSIONS
OR DAMAGES INCURRED IN THE ERECTION OF BUILDING COMPONENTS NOR
FOR THE INSPECTION OF ERECTED COMPONENTS TO ASCERTAIN SAME.

6. TEMPORARY BRACING MUST BE INSTALLED BY ERECTOR TO PROVIDE
ADEQUATE STABILITY DURING ERECTION. BRACING INDICATED ON THE
ERECTION DRAWINGS IS CRITICAL TO THE STABIUTY OF THE COMPLETED
STRUCTURE AND SHALL NOT BE REMOVED.

7. WALL & LINER PANELS ARE AN INTEGRAL PART OF THE STRUCTURAL
SYSTEM. UNAUTHORIZED REMOVAL OF PANELS IS PROHIBITED.

8. ALL FIELD WELDING SHALL BE DONE IN ACCORDANCE WITH THE AMERICAN
WELDING SOCIETY (AWS) BY AWS CERTIFIED WELDERS QUALIFIED TO PERFORM
THE WELDING AS DIRECTED BY THE APPLICABLE WELDING PROCEDURE

SPECIFICATION (WPS). A WPS SHALL BE PREPARED BY THE CONTRACTOR
FOR EACH WELDING VARIATION SPECIFIED. UNLESS OTHERWISE APPROVED,
USE A MINIMUM OF E70xx KSI ELECTRODES. THE CONTRACTOR SHALL PROVIDE
FOR ANY SPECIAL WELDING INSPECTION AS REQUIRED BY CODE.

. THE PREFERRED ATTACHMENT DETAIL FOR A PURLIN HANGER IS AN
ATTACHMENT TO THE BACK OF THE WEB. C—CLAMPS SHOULD NEVER BE
DIRECTLY ATTACHED TO THE FLANGE LIP. C—CLAMPS MUST NEVER
DEFORM THE PURLIN FLANGE UIP.

SULDINGS

INLAND BUILDINGS
DIVISION OF BEHLEN MFG. CO.

P.0. BOX 5869

4025 EAST 23RD STREET

COLUMBUS, NEERASKA USA 68602-0569
E—MAIL: information@inlandbuiidings.com
PHONE: 800-438-1606

FAX: 800-438-1626
www.inlandbuildings.com

[ 408 wo.

WOODWORKING & CABINETRY LLC

PORTLAND, ME 04102

TRIM

AND FRAMIN

BUILDING INFORMATION
JOB NUMBER: H1827
NAME: WOODWORKING & CABINETRY [LC
ADDRESS: LOT 7 EVERGREEN INDUSTRIAL PARK
CITY, STATE: PORTLAND, ME 04102
BUILDER: GULF MARKETING, INC.

P ANE| g

MATERIAL PROPERTIES

1. STRUCTURAL WELDED SECTIONS

ASTM A572, A529 OR AI1011, GR. 55
OR A570, GR. D OR A607, Fy=55 KSI

2. HOLLOW STRUCTURAL SECTIONS (HSS) ASTM A500, GR. C

3. STEEL PIPE ASTM A501 OR AS53, GR. B. Fy=36 KSI
4. HOT ROLLED SECTIONS ASTM A572, A529 OR A992, GR. 50

5. HOT ROLLED ANGLE ASTM A36, Fy=36 KSI OR A572, GR. 30
6. HOT ROLLED ROD ASTM AS572, Fy=50 KSI OR Fy=60 KSI
7. CABLE BRACING ASTM A475, EXTRA HIGH STRENGTH

8

. COLD FORMED ROLLED SECTIONS ASTM A570 OR A10t1 OR A10!1 SS, GR. 55
OR ASTM A653 Fy=50 KSI (GALV.)

ASTM A792, GR. 50 OR GR. 80

ASTM A325, ASTM A325T

ASTM A307, ASTM A325, ASTM A325T

ASTM F436

9. ROOF AND WALL SHEETING

10. HIGH~STRENGTH BOLTS

11. SECONDARY MEMBER CONNECTIONS
12. WASHERS

NO THERMAL BLOCKS

PRIMARY FRAMING

MAIN FRAMES & ENDWALL FRAMES)
WIND COLUMNS & BENTS)

SECONDARY FRAMING

(GIRTS, EAVE STRUTS, PURLINS
DOOR/FRAMED OPNG. & CLIPS ETC.)

cl, G INFORMATION

TYPE: IN-LOC GAUGE: 24 COLOR: GALVALUME RAKE: GAUGE: 26 COLOR: POLAR WHITE

UL90 CERTIFICATION: _YES EAVE: GAUGE: 26  COLOR: POLAR WHITE
HEADER: GAUGE: 26 COLOR: POLAR WHITE

IF ST: FLOATING PANEL CLIPS JAMB: GAUGE: 256 COLOR: POLAR WHITE

CUP HEIGHT:
SHORT (1/2")
(1 1/2° TO 4" INSULATION)

DARK GRAY PRIMER

DARK GRAY PRIMER

NOTE:

THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTECGRITY OF THE BUILDING.

TO ENSURE PROPER ERECTION OF THIS BUILDING

DW

= DW PANEL

SW = SW PANEL

DR = DR PANEL RW = RW PANEL ST = IN-LOC STANDING SEAM

THE FOLLOWING ERECTION GUIDE(S) ARE REQ'D.

INLAND DW WALL PANEL ERECTION GUIDE
INLAND SW WALL PANEL ERECTION GUIDE
IMPORTANT BQLT INFORMATION BUILDING DESIGN CRITERIA INLAND RW_WALL PANEL ERECTION GUIDE
éﬂ'ﬁufﬁé‘ Di’saogFAlrﬁjz :;BngSTH/?ERaSUZSSE%C])ﬁT;H :ASRE DESIGN LOADS ARE APPLIED IN ACCORDANCE WITH THE APPLICABLE INLAND DR ROOF _PANEL ERECTION GUIDE
DoED FOR e ChING 8% STRUTS AND ENDWALL PROVISIONS OF THE BUILDING CODE LISTED BELOW. ‘ SEISMIC INFORMATION W | INLAND IN-LOC STANDING SEAM ROOF ERECTION GUIDE
COLUMNS TO RAFTERS. THEY ARE ALSO SOMETIMES BUILDING CODE : 1IBC 08 SITE CLASS : D INLAND DW LINER PANEL ERECTION GUIDE
USED FOR CERTAIN PURLIN TO RAFTER CONNECTIONS. GROUND SNOW LOAD, Pq (PSF): 70 WIND VELOCITY (MPH) 100 SPECTRAL RESPONSE INLAND SW LINER PANEL ERECTION GUIDE
REVIEW PLANS AND DETAILS FOR SPECIFIC INFORMATION. ROOF SNOW LOAD, Pf (PSF) : 49.0 WIND _EXPOSURE B SHORT PERIOD ESS, %g : 32.2 Sds:0.3311 INLAND RW LINER PANEL ERECTION GUIDE
SNOW EXPOSURE FACTOR (CE) : 1.0 WIND ENCLOSURE : Enclosed 1-SEC PERIOD (S!, %g : 7.8 Sd1:0.1248
IMPORTANT TRIM INFORMATION SNOW IMPORTANCE 1 1.0 GCpi= : 018 SEISMIC IMPORTANCE : 1.00 F THIS SET OF DRAWINGS WERE
NOW THERMAL FACTOR (Ct) : 1.0 SEISMIC DESIGN CATEGORY . C
WHEN HANDLING LONG TRIM, CARE SHQULD BE TAKEN TO AVOID DAMAGE gAﬁl ON ESNOAVlJ‘ (pS%) ( ) - 0.0 &IIZI‘:D IMPORTANCE . }80 RESPONSE MODlFIC;%GO% FACTOR, R : 3.5 and 3.25 SENT VIA E-MAIL, THEY ARE \\‘all!il]l,;
CAUSED BY BUCKLING. COLLATERAL LOAD (PSF) 100 SEISMIC RESPONSE COEFFICIENTS, Cs : | s Sds/R COPIES OF THE ORIGINALS THAT WMo OF 1,
ALL TRIM COMPONENTS HAVE A PROTECTIVE FILM ON THE COLORED SURFACE OCCUPANCY CATEGORY T BASIC STRUCTURAL SYSTEM . OSMF & OSCBF ARE PRINTED AND ON FILE AT THE SR g
THAT MUST BE REMOVED PRIOR TO INSTALLATION. PROLONGED EXPOSURE TO ROOF LIVE LOAD (PSF) : 20 Reducible ANALYSIS PROCEDURE ! Equivalent Lateral Force HOME OFFICE OF INLAND BUILDINGS \ .
RAIN AND/OR SUNLIGHT WILL ADVERSELY EFFECT THE PROTECTIVE FILM MAKING DEAD LOAD (PSF) - 30 USE GROUP CNJA COLUMBUS, NE THE ORIGINALS
REMOVAL DIFFICULT. THIS BUNDING MANUFACTURER WILL ACCEPT NO RESPONSIBILITY e SIMPLE SAVER . BOLTED WITH THE ENGINEERS SEAL ARE
FOR_TRIM WHOSE PROTECTIVE FILM HAS BEEN EXPOSED FOR MORE THAN 3 : CONSIDERED THE LEGAL DOCUMENTS.
WEEKS.
8Y 8Y THICKNESS  SIMPLE RIGID
NONE ~OTHERS INLAND OVER ZEE SAVER CLIPS BOARD DRAWING SUBMITTAL
ROOF: - 4" ] STATUS
WALL: —— (") FOR CONSTRUCTION
. () FOR APPROVALS
THERMAL BLOCKS: _mmms SJ FOR PERVIT ONLY
- () FOR PRELIMINARY USE ONLY
() NOT FOR CONSTRUCTION
(") FOR REVIEW ONLY
) Q SCALE : NONE
y [@) DRAWN BY  DJS oae 5713708 | WOODWORKING & CABINETRY LLC (\\'0\\ INLAND BUILDINGS
; 0) CHECKED 8Y GFC oare_5/13/08 |PORTLAND, ME 04102 l CULLMAN, ALABAMA
y ADDED TRIM COLOR SELECTION DJS Is/18/08] oFC |s/18/08 KJO ls/18/08 | APPROVED BY DATE BJOBU'LDEES s
TR REVISIONS DRAWN BY| DATE [cEck BY| DATE |werovd BY| DATE [ReveweD 8| DATE |LETTER REVISIONS ORAWN BY| DATE |osckeD 6Y] DATE |aproved Y| DATE |reviewe 8Y] DATE [reveweo By DATE GENERAL INFORMATION SR




@ Low Eave

O Dia= 1/2"

& Dia= 3/4”

150'~0" OUT-TO—OUT OF STEEL
@ ® ® 2 ® o
250" 250" o~ - . " o THIS BUILDING HAS NOT BEEN DESIGNED
250 25-0 25'-0 TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
e o INTEGRITY OF THE BUILDING.
-0 L 24'-0 24!_0w 1._0..
l S
8" 8" W
i rzlb_ro;aYA BLDG. MFGR H#
@ O N | X—Bracing f ) ’ X—Bracing oy
i |7_-Z-_7_7/_/—J://../—777777'7'7_7_/"—/_////J_777777'77 7 £ @
cd S HH HE HH HH HE HH
IA D E E D A
i J [A A T w
] 2 =z
= A I/ A & =
. ( = A gl ! 2A1ﬁ/2;?‘(
= 1 2+ A BASE BY OTHERS
3 @ [ E=a EJ Al -® "
o |A' aR a1 — 12
L 2'~0" AFF ~7/ 2 of| AFF S
3 NOT BY BLDG. MFGR. |/ - VI NOT BY BLDG. MFGR. I
e — o~
T o 4 2 q s
- ¢ _ 1 A
2 oy A j N .
/ g i
B .| ce6 GC c ce Gc B )
HH X HH= HH=| =HH ::) ouT To Ut
2 T LT T T 7777 7 F Flg—7 7 pIF F - | -® STEEL
CHES 22l ! FELD LOCATE FIELD LOCATE \_ 20" AFF FIELD LOCATE FIELD LOCATE FIELD LOCATE o T
6'-0" x5'-0" &'-0" x5'-0" NOT BY BLDG. MFGR. 12'—0" x14'-0" 12’—0" x14’-0" 6'—0" x5'—0~ "“ &
&
o oa'—o” pa'—o" oo
25'—-0" 25'—0" 25'-0" 25'-0" 25'-0" 25'—Q"
@ @ @ @ 5 @ @ High Eave
ANCHOR BOLT PLAN
NOTE: All Bose Plates @ 100'—-0" (U.N.)
BACK SIDE
2 g
-
b &
[4
“FRONT SIDE
ORIENTATION
2 O SCALE : NONE
9 o o7 DS oie 5714705 |WOODWORKING & CABINETRY LLC INLAND BUILDINGS
] ®) crEckeD gv DOW oxe 5714708 [PORTLAND, ME 04102 CULLMAN, ALABAMA
:} APPROVED BY DATE =T oF
TR REVISIONS DRAWN BY| DATE |0¥0GD 8Y] DATE |APPROR BY] DATE [RVEWD 81| DATE JLETTER REVISIONS DRAWN BY CEXID BY] DATE | PR BY| DATE |REVEWED BY| DATE |REVIEWED BY DATE ANCHOR BOLT PLAN g2z |3 %17

DATE




: @ @ COLUMN LINE RIGID FRAME: BASIC COLUMN REACTIONS (k ) LOAD COMBINATIONS
: I [ frame Column —-———Dead———— — Collateral— ————Live———— ———— Snow———— —— Wind_L1——— ——Wind_Rl——~—
. Line Line Horiz Vert Horiz Vert Horiz Vert Horiz Vert Horiz Vert Hariz Vert - L
; - ] 1+ ¢ 0.04  0.81 0.09 135 010 1.62 0.38 6.55 -—2.29 -—380 2.67 —0.98 Id  Description
. 1% A —-0.04 0.84 -010 1.39 —0.12 1.67 -050 &.835 —166 —224 207 -333 M| e
1*+ B 0.00 157 001 334 002 4.01 011 1639 -011 =552 0.21 —7.25 1 DL+CL+SL
Frame Column ——Wind_{2-—— —-Wind_R2~—— —— LoWind_1—— —-LnWind_2—-— —Seismic_L——  —Seismic_R—— § ggggtiggggti*‘
Line Line Horiz Vert Horiz Vert Horiz Vert Horiz Vert Horiz Vert Horiz Vert 4 DL+CL+0.75SL+0 75WL1
1* C -28 -2981 216 001 103 -28  1.03 -28 -112 -1.07 108 1.07 5 BLICLL0 755010 7RI
1+ A —112 129 262 -2.43 -0.82 -547 -0.82 -547 -0.61 0.5 0.63 —0.51 R OGODLYO.60CLE WS
1+ B -0.08 -403 017/ -582 002 -575 0.02 -575 001 056 001 -0.56 3 0.80DL+0.B0CLIWRS
Frame Column ——-LnSeis—~— —FIPAT_SL 1~ ~FIPAT_SL 2— S DLCLTo.7esLt0.7oWm2
Line Line Horiz Vert Horiz Vert Horiz Vert 10 0.60DL+0. 60CL+L.and2
1* ¢ 000 000 010 356 013 -0.25 11 0'23DL+0.83CL4.0 70! nSeis
1* A 0.00 -7.66 -0.14 -027 -013 3.66 12 DL+CL+SI;/2+F1P.AT S 1
1+ B 0.00 0.00 002 414 -002 403 13 DLACLiSL/24FIPAT L 2
. 14 0.60DL+0.60CL+WR1FTWS
Frame Column ————Dead———— —Collateral- ————live———— ———— Snow———— —— Wind_L1—~~ ——Wind_R1———
H H Line Line  Horiz Vet  Horiz Vert  Horiz ~ Vert  Horiz  Vert  Horiz Vert  Horiz  Vert 1S _0.60DL+0.60CL+WP-+LnWnd
- - 2% ¢ 0.84 2,67 215 558 257 670 1050 27.32 -514 -864 0.66 —5.86
1\/ v zZ+ A -0.84 279 -215 567 -257 6.80 -10.50 27.80 -0.35 -6.26 541 —9.05
FRAME LINE Frame Column ——Wind_L2——~ ~—Wind R2--— ——taWind 1-— ——tnWind 2—— -Seismic L—— —Seismic R--
RIGID FRAME:  MAXIMUM REACTIONS, ANCHOR BOLTS, & BASE PLATES 5% ot BAF YIE 090 3T6 —0B5 _540 —0ks -bad et i3 1%0° 157
N . \ 2+ A -013 -317 550 -588 0.70 —-10.01 070 —-10.01 -1.35 127 136 —1.27
Frm Col Good timax 0 o e 7T )
m C oa max oa min nc. Bolt Base Plate (in Base Elev —— i§———
Line Line \d H Vmax |d H Vmin No D(in) wid Len ¢ Thk  (in) [.r:;n < Ei?‘I:mn Horianse\l/se,—t
—= - - —-—= 2+ C 0.00 -3.30
1+ C 5 2.8 70 6 -28 -1.7 4 0.750 6.000 9.000 0.375 0.0 2* A 0.00 ~7.66
12 03 88 2 -22 -28 fe F 0 .
1+ X —1. 1. g . rame lines:
A 173 _% % ;; :,1 -1 ’? _54 g 4 0750 6.000 11.00 0.375 0.0 2% Frome fnes: 2 35 45 &
1+ 8 ss 903 144 9 —8.13 17;54 4 0750 6.000 8.000 0.375 0.0
) ’ ' ) ' ENDWALL COLUMN REACTIONS(k ) WIND BENT REACTIONS
1* Frame lines: 1 7 + Reactions
. = ———Wall—— Col Wind(k Seismic(k ) Anc_Bolt Base_Plate(in
RIGID FRAME:  MAXIMUM REACTIONS, ANCHOR BOLTS, & BASE PLATES MAXIMUM DOWN 227 oo e The o™ ommel)  AneBat i Length) Thick
— Column Reoctions (k ) MAXMUM HORIZONTAL = 40 FSW A 2 076 136 237 421 4 0750 600 16.00  0.38
Lhe Cme 90 e ST W AR Belt Dose Plate (i) Bass Elev TNEL SHE FSW A 3 07 136 237 421 4 0750 600 1600 038
in max n o D(in en n F_SW A 5 076 1.36 2.37 421 4 0750 6.00 16.00 0.38
- -~ BRACING REACTIONS, PAN AR H H Fsw A 6 076 136 237 421 4 0.750 6.00 16.00 0.38
2*cC 1 135 356 6 -35 -0.6 4 0750 6.000 11.00 0.375 0.0 + Reactions (k ) Panel e -
2 -33 -37 ———Wall-— Col ——Wind————Seismic~ Shear tv by
2* A 7 37 -089 1 -135 363 4 0750 6.000 12.00 0.375 0.0 Loc Line Line Horz Vert Horz Vert (ib/ft)
1 -135 363 10 -11 =50
LEW 1 Rigid Frame At Endwall
2* Framelines: 2 3 4 5 6 F_SW A M?\ld B;nrtn?n WQlln e
R_EW 7 Rigid Frame At Endwall
BSWC 6,5 15 1.0 47 33
— = 3.2 15 1.0 47 33
Dia= 3/4
F"l 1'—4" | ANCHOR BOLT SUMMARY
" = a ’ NOTE:
t L Di Proj
1 = |5 12" Gt Loc (i) (in THIS BUILDING HAS NOT BEEN DESIGNED
' g B . TO SUPPORT ANY LOADS FROM THE
| | o 16 DJ 1/2" 1.00 MEZZANINE. IF THE MEZZANINE IS
10 1/4” B8 EW /4n 250 ATTACHED TO THE STRUCTURE OF THIS
0
I SW B ROyE 23 BUILDING AN ANALYSIS WILL HAVE TO BE
- DONE TO INSURE THE STRUCTURAL
9” : INTEGRITY OF THE BUILDING.
DETAIL G
Dia= 3/4" 6" Dia= 3/4" 6" Dia= 3/4" Dig= 3/4" 6 Dia= 1/27 {
I‘ " F— RAEREEPP
5 TN T l l 31/2" oY iy
wl i A
JI J T 1 IR
R N o X o
o A / 3" e . 3 B|® | —7_ 1 -
=) oo 3
= - o glle | —F . i © .
] b= 3" © - 4
/ = |l= L = 3 I O
[ _

77 c77A b | Grzzzf
%ML 2" NOTCH. 2 NOTCH y

1 3/4"4d1 3/4” W 1 3/4"? i |t 3/4" SW 13/47 | ] |1 3/4

8” 2"
MZ chufi . ?<L EW/ |

1 3/4" HHH1 3/4 SW 2
10 sW 1-0" _See Plan |
ETAIL A DETAIL B d) DETAIL C d) DETAIL D b DETAIL E DETAIL F ELEV. 102'-0"
SCALE : NONE
% 8 o o DS ox 5714708 | WOODWORKING & CABINETRY LLC INLAND BUILDINGS
3 P— oak 5/14708 |PORTLAND, ME 04102 Wl CULLMAN, ALABAMA
:) Q APPROVED BY DATE 508 Nlr:(;s SHT. oF
TIER] REVISIONS DRAWN BY] DATE |GHECKED BY| DATE |APPROMD BY] DATE |ROVEED BY| DATE REVISIONS DRAWN BY) DATE [CHECKED BY) DATE |APPROVED BY] DATE |REVEWED BY] DATE |REVIEWED 8Y DATE ANCHOR BOLT PLAN ) HiR99 [ Ed Chad




WALL FRAMED OPENINGS

I
Il
Wi

LOW HEAD-ROOM
STANDARD LIFT

x TYPE OF OPENING

RU = ROLL-UP
OWS = ONE WAY SLIDE

8F
WK

Bi—-FOLD

= WALK DOOR

HIGH UFT TWS = TWO WAY SLIDE FOS = FRAMED OPENING W/ SILL
VL VERTICAL UFT SF = STORE FRONT
PLAN |q1y SIZE SILL HEIGHT| TYPE OF OPENING | LOCATION | JAMB TORSION OTHER
1.D. {WDTH X HEIGHT) | (IF REQ'D) % SW OR EW [COVER|SPRING SUPPORT INFORMATION
| A 3 |19'-0" x6'—6"| 7°-3" FOS SW
B 1 [8-0" x5'-0" | FLD. LOC. FOS SW
C 2 |10°'-0" x5'-0"} FLD. LOC. FOS SW
D 5 |6-0" x5'-0" FLD. LOC. FOS SW
£ 3 [|3-0" x77-0" 7'-0" WK Sw
F 2 [122-0" x14°-0" SL SW X X
NOTES: NOTE
1. FOR BUILDINGS DESIGNED AS ENCLOSED, ALL WINDOWS, DOORS, AND LOUVERS SHALL BE RATED
TO COMPLY WMITH THE WIND DESIGN CRITERIA IDENTIFIED ON SHEET | OF THESE PLANS. THIS BUILD[NC HAS NOT BEEN DES]GNED
2. ALL FIELD LOCATED FRAMED OPENINGS WILL REQUIRE FIELD CUTTING OF GIRTS, PURLINS, AND SHEETING. TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.
"X” DENOTES OPTION SUPPLIED BY BUILDING MANUFACTURER
SCALE : NONE Wi ABI RY C J
% [@) DRAWN BY DJS DATE 5/15/08 pgg%_vi\orq%flmcg 864?03 NETRY LL ﬁ INLAND BUILDINGS
b [@) CHECKED BY DATE S CULLMAN, ALABAMA
:2 APPROVED BY DATE JOB NO. I'sur.  oF
TR REVISIONS DRAWN BY) DATE |CHECKED BY) DATE | APPROVID BY] DATE |REVEWED BY| DATE JLETIER REVISIONS DRAWN BY] DATE |o#CKD 8] DATE |#PRovd ] DATE ReveD 6Y] DATE [reviewed ey 0ATE RUINING ACCFSSORIFR




LAl UVULIED

Splice Quan [ p— Bolt————-- Plgte Size Col
tark Top/Bot/int Type Dia Len Wid  Thick Length Id Qnt Typ Dia Len
SP— 1 | 2 4 0 A3251.000 3.00 8, 5/8]1'-55/8" |EC-1/EC{ 4 A325 0.500 1.50
sP— 2 |2 4 0 A3250.750 250 5" 1/2" 1'-5 578"
SP~ 3 |2 4 0 A325 0750 2.50 5" 5/8" V-5 34
N/FLANGE BRACES: Bath Sides{U.N.)
A - L1.5x16G
! 2'-6]
10 SP@ 40"
/2" Z-6 7/1€],
12 FB300A(1)
FBZ;O{J%\) ,
oA() N/ e —— - -
FB300A(1) i N —— T~ I I
FB30OA(1) = A j _|" T {
__V__q-—-—~——j——”_T J 1 - : i
r r 1 = 4
. M "y '1F=‘ l
2 RF1-3 !
2 4 & | .
o
. | ] RF1-2 a | T
~ — <]
- | 2 l
I
. | |
~ | | <
I z <k
—— 1] HI = -
o .
3 | |
[
| o | NOTE:
N | %’Tl |« | ki THIS BUILDING HAS NOT BEEN DESIGNED
i H ) o ol TO SUPPORT ANY LOADS FROM THE
B | - © = 1 9|l & | e MEZZANINE. IF THE MEZZANINE IS
21 | T4, 3 NS Nh or < ATTACHED TO THE STRUCTURE OF THIS
] o <N N :lm e Ol | BUILDING AN ANALYSIS WILL HAVE TO BE
| © g+ o A< T > DONE TO INSURE THE STRUCTURAL
e O ol ol o | INTEGRITY OF THE BUILDING.
= 1 Y - | T
g | e 5 l
—_0 1
. ol d =
£ ]
H l =O
? } | K
I , | )
. 8" STEM
WALL BY WALL BY
OTHERS OTHE)
B L] .
8" ,|1'—2" 20-8" 20°~11 1/2" 10 1/2, g witiiiny,
' CLEAR +/- CLEAR +/- W OF s 7%
. . 22'6" > << 9 ”/f
22'-6 - v /
\\\\r&t‘\.. . /\\ ”,—»
45'-0" OUT~TO-OUT OF STEEL SRR . Lo
T, wo
© ® £
RiGID FRAME ELEVATION SR
FOR FRAME UNE 1 7 = ‘/‘l) L
ERECTION NOTES: RO o S S (1 § ’
- - RIGID FRAMES BY THIS MANUFACTURER ARE DESIGNED TO BE FASTENED USING T ¥ < v
" %Euségplﬂcéghiuzé%o?x% E%%CSEOSRA?%EI%S Eom A—325 HIGH STRENGTH BOLTS BY THE "SNUG-TIGHTENED" METHOD, AS DEFINED 2o, NN GV AE "”‘;"7/
DETERMINE COMPLETE ERECTION REQUIREMENTS. AND DESCRIBED IN THE RESEARCH COUNCIL ON STBUCTURAL CONNECT&ON? . A ““”\és
2. ALL FLANGE BRACING MUST BE INSTALLED AT FRAME SPEFqHCI\?T‘OI\éE@T(IZgS, 861—23—2000), SECTION 4.1, "SNUG-TIGHTENED JOINTS
LINES AS SHOWN. (REFERENCE 1)
: _NON
% 2 STALE L TIONE 5o 5773768] WOODWORKING & CABINETRY LLC| ¥ INLAND BUILDINGS
PORTLAND, ME 04102 CULLMAN, ALABAMA
) O CHECKED BY DATE BU"_DINGS ’
Q APPROVED BY DATE 10B NO. AT oF
TR REVISIONS DRAWY BY| DATE [OF0GD 8Y] DATE |#PRoD 81| DATE | vewed BY] DATE JLETTER REVISIONS DRAWN BY| DATE |CECKD 81| DATE |WPPROVD BY| DATE [REVEWD 81| DATE |reviewsd sv DATE RIGID FRAME ELEVATION H1822 5 17




R —

wwoovyo

Splice Quon —————Bolt———- Plate Size

hork Top/Bot/int Type Dia Len T Wid _ Thick Length
sP~ 1 4 4 0 A325 1.000 3.00 8" 5/8" 2'-107
P 2 2 4 0 A3250.750 2.50 6" 5/8” 1'-5 7/8"
sP- 3 4 4 0 A325 1.000 3.00 8" 5/8" 2'-11"

SFLANGE BRACES: Both Sides(U.N.)

A ~ L1.5x16G
B ~ L2x14Ga
(. 2-6]
10 SP@ 4'-0"
/7 ~6 7/18}4
1
FB420A(1
FB300A(1) B ) D
FB30OAC) N J“ _j
. FB360A(1) v( _____________ f i
EM VA T T T T T e Al 7
— RF2— =
. | RF2-2 d 2-3 = | 5
g o | .
> | a | ©
] | = 7 |
e o
| o |
| ‘ NOTE:
= H H — | THIS BUILDING HAS NOT BEEN DESIGNED
4 TO SUPPORT ANY LOADS FROM THE
D | § MEZZANINE. IF THE MEZZANINE IS
3 | X ATTACHED TO THE STRUCTURE OF THIS
w | | - BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
~ | | 5 INTEGRITY OF THE BUILDING.
) - ¥ | ol
T ‘ iol = 11 é ! a
ol ™ | T TN o\ & | ~
~ & = o+ B\*
| & DN X ~as }
B S JE
= Mic: S ) S
z IS <
| §[>tl__| ~3 ]@ |
@ | fre}
w l w
° | | o
' -
~ | | ~
. 8" STEM
V?ALETE‘YA WALL BY
OTHERS _J OTHERS
1 ) i B | R
8’ L | 2-7 /8 38'-6 3/4" 2'-6 1/8" 8"
i ) CLEAR +/-
45'—0" OUT-TO—OUT _OF STEEL
© ®
RIGID FRAME ELEVATION
FOR FRAME LINE 2 3 4 5 6
ERECTION NOTES:
= - RIGID FRAMES BY THIS MANUFACTURER ARE DESIGNED TO BE FASTENED USING
- B?Euségﬁh’cégbﬁuﬁé%oﬁ’“v’;% E%%%EOSR,%BES EOTO A—325 HIGH STRENGTH BOLTS BY THE "SNUG-TIGHTENED” METHOD, AS DEFINED
DETERMINE COMPLETE ERECTION REQUIREMENTS. AND DESCRIBED IN THE RESEARCH COUNCIL ON STRUCTURAL CONNECTIONS |
2. ALL FLANGE BRACING MUST BE INSTALLED AT FRAME SPECIFICATION (RCSC, 6-23—2000), SECTION 4.1, "SNUG-TIGHTENED JOINTS
LINES AS SHOWN. (REFERENCE SECTION 8.1)
2 SCALE :_NONE WOODWORKING & CABINETRY LLC | %% INLAND BUILDINGS
D) (@) DRAWN BY DJS pAE  5/14/08
D) CHECKED BY DATE PORTLAND, ME 04102 T CULLMAN, ALABAMA
2 APPROVED BY DATE oy P
= REVISIONS DRAWN BY| DATE |OFOKED 87| DATE |WROVD 81| DATE |REVEWD BY] DATE JLETTER REVISIONS ORAW BY| DATE |CRECKD BY] DATE |V 81| DATE |ROVEMD 87] DATE |ReviEweD &Y DATE RIGID FRAME ELEVATION H1822J 6 17

S ——




SPECIAL BOLTS & WASHERS

ROOF PLAN
O ID__|QUAN TYPE__DIA__LENGIH W/BT
1 4 A325 /7 11/2° 6
MEMBER TABLE
ROOF PLAN
MARK | PART LENGTH
P—1 (10212 28-9 5/87
P-2 |10z214 32-7 1/2"
p-3 |10212 28'-9 5/8"
E-1 |10E14 24°-11 3/4"
E-2 |10E14 24'-11.3/4"
E-3 |10E14 24'-11 3/4"
E-4 |10E14 24'-11 3/4"
£-5 |[10E14 24' =11 3/4"
E-6 | 10E14 24’11 3/4"
CB-2 | wx4 3’0"
CONNECTION PLATES
ROOF PLAN
OID | MARK/PART,
1 [ MP147
1 . 7
150°-0" QUT-TO-0UT OF STEEL
25'-0" 25'-0" 25'-0" 25'-0" 25'-0" 25'-0"
1'—0;T ) l | .]_.'_—0"
E-6 { E-5 ; E-5 E-5 : E-5 ! E-4
C - - = NOTE:
LT P=1(Typ) 24 P~2(Typ) e P=2(Typ) T P-2(Ty) L) P—2(Typ) £a P=3(Tyo) - |
| < , THIS BUILDING HAS NOT BEEN DESIGNED
/ N 7 | TO SUPPORT ANY LOADS FROM THE
= 1 MEZZANINE. IF THE MEZZANINE IS
AN /s N /s ATTACHED TO THE STRUCTURE OF THIS
L - BUILDING AN ANALYSIS WILL HAVE TO BE
2 DS PN DONE TO INSURE THE STRUCTURAL
i | | INTEGRITY OF THE BUILDING.
% a2, C 3
» & s &,
5 | cid i $” % |
'é | N N i
i o -
o
, | / |
,5 ~N /
3 | N s AN v |
o ] |
i L N/ N/ |
e — 1
| - LN i N g il
N -~
| b% < 0% < |
A [T i i I ] I |
TE- E=2 E=2 E—2 -2 =3
PURLIN 3-9 3/4" 3-9 3/4" 3-9 3/4" 3-9 3/47 -9 3/4"
LAP T-9 3/4" 3-8 3/4" 3-8 3/4" 3-9 3/4" 3-9 3/4
ROOF FRAMING PLAN
BACK SIDE
=] E
&l ]
g 3
& @
FRONT SIDE 2
ORIENTATION AW 70
#1— DENOTES FIELD LOCATED ACCESSORY it
(SEE ACCESSORY SHEET)
SCALE : NONE
Q SCALE < NO = 5/7755 |WOODWORKING & CABINETRY LLC | I¥Eed INLAND BUILDINGS
O CHECKED BY DATE PORTLAND, ME 04102 T CULLMAN, ALABAMA
U APPROVED BY DATE JOB NO SHT. oF
ETTER) REVISIONS DRAWN BY| DATE |GECSD BY] DATE |%PROVD BY] DATE |REVEWD BY| DATE JLETTER REVISIONS DRAWN BY| DATE |CHECKED BY| DATE |#PROVED BY| DATE |REVEWED BY| DATE |REVIEWED BY DATE ROOF_FRAMING H1822 7 17




©

150'-0" OUT—TO—OUT

OF STEEL

25'-0"

25'-0"

25'-0"

¢

1'—0__1

_*

—+@

25'-0"

®

E ¥ 3 T 3 ]
] XX I XX XX T XX X X X X[
T X X X XX X - X X X X X X1,
; XX X X XX X X X X XX
] XX | X X XX ] X X L X X | XX :

HIGH EAVE

PURLIN BRACE ]
1] MARK/PART _ [QTY] LENGTH LOCATION

SAR2GZ515 |2 [4-31/2" TOP/BOTTOM
NOTE:

O TYPICAL THROUGHOUT ROOF

ERECTION NOTE:

Purlin braces must be installed in the complete bay to
dlign purlins prior to starting roof panel installation

NOTE:

THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.

ROOF BRACING PLAN
BACK SIDE :
g 2
o
g
FRONT SIDE
ORIENTATION
g~ DENOTES FIELD LOCATED ACCESSORY
(SEE ACCESSORY SHEET)
% fn(i:NLEav: n'jgNE oxw 5714708 |WOODWORKING & CABINETRY LLC INLAND BUILDINGS
D) CHECKED BY DATE PORTLAND, ME 04102 CULLMAN, ALABAMA
D) APPROVED BY DATE S o
TIER) REVISIONS DrawN BY| DATE |owa@ 8v] DATE DATE v 8| DATE REVISIONS DRAWN BY| DATE Jo#0KD BY| DATE | MPROMD BY] DATE |REVEWED BY] DATE |[reviewen oy DATE ROOF BRACING H1822 [37 5 * 44




ROOF PANEL SEAM TYPES

ROLL—AND—-LOCK SEAM ROLL—AND~LOC _ -
(CRIMPED wnLTH MANUAL (ur\'ISE:hTEDD)LO S TR'p(LET—'EQICSS)SEAM TRIPLEZLOCK SEAM OUA(DE} éagé) RuApRrene
SEAMING TOOL) -
ROOF PANEL ROOF PANEL ROOF PANEL ROOF PANEL ROOF PANEL ROOF PANEL
\PANEL - \_PANEL
cuP \‘EG’:,EL cup
AT PANEL CLIPS BETWEEN CLIPS AT PANEL CLIPS BETWEEN CLIPS AT PANEL CLIPS BETWEEN CLIPS

DENQOTES AREA OF ROOF THAT REQUIRES

':lDENOTES AREA OF ROOF THAT REQUIRES KXXXKXXKX
ROLL~AND—LOCK SEAM V72777777 AREN0TES SREA L, ROOF THAT REQUIRES QUADRI-LOCK SEAM

NOTE:

THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.

1 7
O 150'-0" OUT-TO-OUT OF STEEL

©

-4

[

Lk

]

(%,

L

(e

5

9l Ty
e (739)

1 PANELS:. 24 Ga. IN-LOC
K GALVALUME
3 _—
o

|

i)

~H|

SRERR NN
an —~ 'y,
LR

®

.
N
N

»
|
()]
o

ROOF SEAMING PLAN S

RIGHT END

FRONT SIDE 4
4
ORIENTATION

- DENOTES FIELD LOCATED ACCESSORY
(SEE ACCESSORY SHEET)

SRS
A
i\

’/liantb

2 O SCALE : NONE 3
3 [0} e 57 DIS oa 5714708 | WOODWORKING & CABINETRY LLC | INLAND BUILDINGS
D) CECRED BY OATE ——|PORTLAND, ME 04102 T CULLMAN, ALABAMA
2 Q . T APPROVED BY DATE ) s o

TR REVISIONS DRAWN BY| DATE [cHECKED BY] DATE |wPRoviD BY] DATE |REVEWD BY| DATE LETTE REVISIONS DRAWN BY| DATE |GECKED BY| DATE | APPROVED BY] DATE |REVEWED BY| DATE |RevieweD s DATE ROOF SEAMING H1822 [ 9 17




BOLT TABLE
FRAME_LINE 1
LOCATION [QUAN TYPE DIA __ LENGIH
Columns 4 A325 1/27 1 1/27
MEMBER TABLE
© , ® FRAME UNE 1
45'—-0" OUT—-TO—0OUT OF STEEL MARK ART LENGTH
EC—1 | BO850413 [19-0 5/16™
® G-1 |8z16 23'-6 1/4"
c-2 |8718 23'-6 1/4
22'-6" 226" G-3 |8715 23-6 174"
FLANGE BRACE TABLE
‘VFEIAVAE\RLQNE 1r (ENGTH
,142f 1/2° 1 {FB185A _11'-6 1/2"
- — CONNECTION PLATES
e — === T I FRAME LINE 1
. p— L TI | l | . 1 [MP234
N | | | ? TRIM TABLE
il | | o | FRAME LINE 1
7 | | OID[ PART
° | | | N
[ C-1 | = =3 3 | TR67-20
i ] i 4 | TR66-20
:(‘ =
J ® | | | | of T
[ [ | |
71 = ' N o
g | ! ! |
R G— N7 G2 | __fid |
N 1 &
| 4TRAPP|NG |
i SAP8DG250~00 .
o FRONT & BACK OF GIRTS | o
L | LR
7 777777707 7T
2'—0
4 _ /] - _\ié
I STEM_WALL
EC-1 BY OTHERS
NOTE:
GIRT 1'-8_3/4,
LAPS o8 3/4 THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
LEFT ENDWALL FRAMING: FRAME LINE 1 MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
((P (,P DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.
% 1/2° ©®©® —
- ————— ]
0 l
| l
| :
l :
| SHEETING BY OTHERS |
| : |
| : &
77777 T A
L L L L L LA L/ L L L LLLL___\/- ‘
LEFT ENDWALL TRIM: FRAME LINE 1 STEM WALL D= rad
LW ”0(9/
f— DENOTES FIELD LOCATED AGCESSORY Vi
(SEE ACCESSORY SHEET)
. TS— DENOTES TORSION SPRING SUPPORT ]
8 = SCALE : NONE s 5774765 [WOODWORKING & CABINETRY LLC INLAND BUILDINGS
(0N @) SECKED BY AT PORTLAND, ME 04102 CULLMAN, ALABAMA
‘O O APPROVED 8Y DATE Y8 Ko, r—
LETTER REVISIONS DRAWN BY| DATE |GECGD BY] DATE | #epRowD BY| DATE 81| DATE JETTER REVISIONS DRAWN BY| DATE |OECKD BY| DATE |WPRVDBY| DATE [REVEWD BY| DATE |REVEWED BY DATE ENDWALL FRAMING H1822 10" 17




BOLT TABLE
FRAME LINE 7 ‘
LOCATION “TQUAN TYPE DA _LENGTH|.
Columns |4 A325 /77 11/2
MEMBER TABLE
® . © FRAME LINE 7
B 45'-0" QUT-TO-CUT OF STEEL MARK | PART LENGTH
EC-2 [ B0850413 [19-0 5/16"
@ ¢-1 | 8216 23-6 1/4”
. o G-2 |BZI6 23'-6 1/4"
22'-6 22'-6 G-4 | 8715 23-6 174"
FLANGE BRACE TABLE ‘
vagAl T Can 7FE GT
. LENGTH !
1/2 T% 1 _[FB185A  [1-6 1/2"
A e CONNECTION PLATES ||
& 1 - s FRAME LINE 7 ‘
L — 01D | MARK/PART
. | ! l jT —1 N N— . 1 [ MP234 |
N
ki | l | ~ TRIM TABLE |
o | | FRAME LINE 7 ‘
| | T SID] PART
| I | | © > | Wi |
4 (J@g G-4 . — A G=2 1+ : 3 | TR67-20 |
I | | 4 | TR66-20 |
LI | l | .| ¥ |
A o [ ol =~
I B | | 1 ‘
N G | | NI |
| | | | S |
R HE G-1 J__ G-2 P |
| < STRAPPING | |
] SAP8DG250-00 . |
o l FRONT & BACK OF GIRTS | = |
~ ~
v — = —~ 4 —H
VISP VI SIS I SN |
L _/I L LA _%A |
EC-2 STEM _WALL |
BY OTHERS NOTE:
GIRT 1'-8_3/4" \
LAPS 708 3/4° THIS BUILDING HAS NOT BEEN DESIGNED L
TO SUPPORT ANY LOADS FROM THE |
RIGHT ENDWALL FRAMING: FRAME LINE 7 MEZZANINE. If THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS \
BUILDING AN ANALYSIS WILL HAVE TO BE
@) DONE TO INSURE THE STRUCTURAL |
INTEGRITY OF THE BUILDING. |
\
1/2"&
12 \‘
I T/ \‘
f |
| |
I l
| l
| |
l SHEETING BY OTHERS I
\ 4
l 1 ~hse OF a7,
l I Lol L
| |
77T g
; STEM WALL
RIGHT ENDWALL TRIM: FRAME LINE 7 STEM WALL
- DENOTES FIELD LOCATED ACCESSORY
(SEE ACCESSORY SHEET)
7S — DENOTES TORSION SPRING SUPPORT
SCALE : NONE
%) g P oxw 5/72705 | WOODWORKING & CABINETRY LLC INLAND BUILDINGS
9} ) CreoeD aY oAt PORTLAND, ME 04102 CULLMAN, ALABAMA
Q D APPROVED BY DATE BJgLLDl':GS pves =
ETER REVISIONS DRAWN BY| DATE |ciEc BY] DATE |#7RovD BY| DATE |RVEWD BY| DATE JLETTER REVISIONS DRAWN BY| DATE |CHECKED 8Y] DATE | WPROVD BY| DATE [REVEWED BY| DATE |REVIEWED BY DATE ENDWALL FRAMING H1822 l 1117



BOLT TABLE
z @ FRAME LINE A
150'~0" 0UT-TO—OUT OF STEEL LOCATION 1 QUAN [YEE DIA LENGTH
WF—1 — RF2—4 8 A325 1/2° 11/2"
@ = @ . ® ® ® Ly sy T
o 25'-0 25'—0 25'-0 25'—0 25'—0 o i | T m——e
g0 Jo—o" 6'—o" 6'—0" g~0" =~ Wr—2 |B1680813 | 213 1/8"
FIELD LOCATE "I FIELD LOCATE FIELD | FIELD ' w DJ—1 | 8C16 13 7 5/8:
E—1 l E-2 C . E-2 C JLOCATE E-2 E—2 ] HOCATE C ] E~3 C B&——% gg}g -—1? 3!8
' | ' e [ I Fm 1 o | T = A R
e | | | % DH=5 23] DA—5 : ko DH—1u0) | | L T [oDH=1w | “DH-5 mE|= [ | E—2 | 10E14 24'—11 3/4
5 c 0l o 0 o o 1, b] ) ol |1 [0 L 0 P S E-3 |10E14 24'—11 3/4;
© | | | = > - = - 5 DH—19 15 | | s ! |apH—14) 1 2 L[ G-5 | 8713 26'~8 5/8
- al oy = = o w0 I3 4 p_ A4 o DH-S o_Jwoy G-6 | 8216 285 1/2°
i - [ 6-5 | G-7 HIT] &J“?f 3] [ -7 [y A ) - P " I || izsl | 2l _G—10 | = 3] ] -7 | 8214 285 }%
k. G—6 DH—2 Ao = A _ _
o o | ! | | | e | | | s T M R Y L = e s |ane  |20-8 /e
- I Q< afl<c ) ) o 1 N ol i al< G—10 | 8713 26'—-8 5/8"
§ o~ | | LI I |l m | 23 R R | VT 28 1o | B w188 e
_ G—6 1 |DH~T | &2 I [DA= T _ 5 O e T - || DH-1 il FRAME IINE A
1 c=5_ | — SEEF G—S.OJ - i L G=6 | —_—— = — I | - _ |G—5 G QL.O B = M I ! OID] PART
\ - I
4 | Z"trupplng ;‘ u" = Ol 3 §I N R Dl 3 ! 0 i\ . 5 o 2 | 1’7. %17%
a h SAP8DG250-00 - 73] 0 - DH—1E] mg a 0 DH—1 3 | m76
“ S7222 7 AT i o2 WA 2 7 AWM i oo 2% oozt
17 LL E—QZZZZZI:_‘Z_ 4. i Ad:IZ' L TN L)y VI HMAy /]JII//_ S OPL, _A(_I 3 |uze
] H ] C 1 C ™™ ] C H ] C _
RF1— RF2—-4 = RF2—4 W RF2—4 RF2—4 RF9— fu RF1—4 7| TWis—12
aj<C ' » af<C al< B ” 1 TW18—-16
1S 6'—0 S |.s=0 12'-0" 12'~0" g5 |.e-0
w13 &3 FIELD LOCATE FIELD LOCATE |3 CONNECTION PLATES
GRT D AR 7P ART
LAPS -8 3/4" r-8 3/47, -8 3/4, -8 3/47, -8 3/47, 2 | Coas |
—t » > » - 3 - 3 » - 3 »
1'-8 3/4 1'-8 3/4 1'-8 3/4" 1'-8 3/4 1'—8 3/4 2 gg?ga
5 | CP43
FRONT SIDEWALL FRAMING: FRAME LINE A NOTE: \
THIS BUILDING HAS NOT BEEN DESIGNED
NOTE: TO SUPPORT ANY LOADS FROM THE
: MEZZANINE. IF THE MEZZANINE IS
UPPER GIRT RUN CAN NOT BE CUT FOR ATTACHED TO THE STRUCTURE OF THIS
FIELD LOCATING OF FRAMED OPENINGS. BULDING AN ARALYSIS MLL HAVE TO BE
INTEGRITY OF THE BUILDING.
QD OO 0
0o — 1 O
rFr Y - - - - - - T T T T T T T == 1
l
| o o 5 :
| @ % 1
| | ,‘
| SHEETING BY OTHERS |
I | =S
| o ® ® © B |® = | .
__________ — 7_ : :
‘Z/_ALAALLLA/_/_JAZZTZZ_[ZZZZZZZZZZYZZ_[L _____ /LA VOIS, S

f=l— DENOTES FIELD LOCATED ACCESSORY

FRONT SIDEWALL TRIM: FRAME LINE A

/’0%

FRAMING

(SEE ACCESSORY SHEET) O
TS — DENOTES TORSION SPRING SUPPORT
o) : [
3 K SCALE L NONE oo 5714705 [WOODWORKING & CABINETRY LLC INLAND BUILDINGS
o] o) oiEoKD Y b PORTLAND, ME 04102 l CULLMAN, ALABAMA
D O APPROVED BY DATE 4\
ETTER] REMISIONS DRAWN BY| DATE |oEam oYl DATE [wmnml DATF Imwumavl naTe lFrmem PravTar hovu oVl RATE (nEren oVl AT [imonen ol R ATE locwrn 6yl A ATE Tomsmen v nare SINFWALI I LYV EL L

an -



SPECIAL BOLTS
o ID [QUAN TYPE DIA LENGTH WASH
1 | 4 A325 1/2" 1 1/2° 0

MEMBER TABLE
FRAME LINE C
IMARK_ | PART (ENGTH
DJ—3 [ 8C13 1—9 3/4
DJ—4 |8C13 11—-9 3/4"
1 . u
@ 150'—0" QUT—-TO—OUT OF STEEL O DH—4 ) 8C14 18'-11 3/4
E-4 |10E14 24’11 3/4”
® ® ® ©, @ SRk
- - . . - e — —-11 374
o 25'—0 25'—0 25'—0 25'—0 25'—0 25'—0 . o | 55L ERIm A
1-0" | | 1'—0 G-12 | 8213 26'-7 1/2°
1 T G-13 | 8214 25'—9 5/8"
G-14 | 8213 25'-9 578"
q q G-16 | 8z12 25'—9 5/8"
_ E-4 E-5 E-5 E-S E-6 2 G-17 | 8214 26'—7 1 ;2"
f Gl [ | @] | [ i | ] I [ | | B! G-18 | 8712 25'-g 5//8"
g—1 10" | l | \\ | | v | | | | | | | €B-=1 | Wx8 —
-11/ ~ _ I CONNECTION PLATES
N N _ | 6-11 [ | G186 | [ e-16 | . lo=16 | 1 613 . HRAME LINE G r
N ' F3 T311 ' ' "o MT311 MT311 ‘ i | MP147
1w e T ;i N } | i 7 Ny 2 |eied
- — -
T~ s 2 2 P x = MT311 a MT311 = 4 | crPos
Q1 L BiE d MT311 - G=1> | | g-14 | 72} — — 7 || 5 | ce2os
G-1 % . -
5 RN ) T & Q@\; ZS'traggin " .al’ _ol’ |
; 713 A in 7 ~ SAP8DGZ50—00 ! e} ; bt TRIM TABLE
5 - ~ -~ FRONT& BACK OF GIRTS ~ - 5 =
N I L _j 2____ S L L I _/- —7—/—7— FRAME_LINE C
g ZZZZZkZ%’%?ZZZZZ’Aglz}j_llll%ZZZ;iﬂi_ ) vl v O PART
Ve 2 | TR69
_ _ 2'—0" HIGH STEM - _ RF1—1
RF1—1 RF2—1 Al BTN RF2—1 RF2—1 l i 3}?2
3'__0' ! 191__0- | ' 19,_011 I 19'_0“ g E"331—20
FIELD FIELD LOCATE , FIELD LOCATE FIELD FIELD LOCATE
LOCATE LOCATE
SheS P e TS e S e TS e
NOTE:
NOTE: BACK SIDEWALL FRAMING: FRAME LINE C

**CLIPS W/ STAR INDICATE CUPS THAT MAY NEED
TO SHARE BOLT HOLES IN ORDER TO FIT BOTH F.0.'S IN SAME BAY
UPPER GIRT RUN CAN NOT BE CUT FOR
FIELD LOCATING OF FRAMED OPENINGS. FIELD ATTACH
MT311 CHANNELS OVER GIRT FOR HEADER/SILL

THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.

920, ‘ >
O I _

l
|
|
|
|
|

[ 1
& |8

| B o
V| 0222772777777 77 7777 TSI A AT AT T T TS TSI SR

2'—0" HIGH STEM
WALL (BY OTHERS)

g
\,‘|\§ JJ‘.!?

BACK SIDEWALL TRIM: FRAME LINE C

[~ DENOTES FIELD LOCATED ACCESSORY
(SEE ACCESSORY SHEET)

TS~ DENOTES TORSION SPRING SUPPORT

3 8 o 57 DS oa 5774708 | WOODWORKING & CABINETRY LLC INLAND BUILDINGS
8 Cy CHECKED BY DCW DATE 5/14/08 PORTLAND, ME 04102 LDINGS CULLMAN, ALABAMA
U . APPROVED BY DATE %08 NO. e o
LETTER]_ REVISIONS DRAWN BY| DATE |CHEGKED BY] DATE |APPROVD BY| DATE |REVEWD BY| DATE |LETTER REVISIONS DRAWN BY| DATE |GHECKED BY] DATE |AR0MD BY] DATE 5| DATE [Reviewed ey DATE SIDEWALL FRAMING H1822 l 1317




PURLIN_TO_PURLIN EAVE STRUT—\

PURLIN TO PURLIN

INSERT TABS INTO
WEB SLOTS, FIELD BEND,
THEN SCREW TO PURLIN

INSERT TABS INTO
WEB SLOTS, FIELD BEND,
PURLIN BRACE ANGLE THEN SCREW TO PURLIN

DETAIL: DOUBLE ANGLE W/ADJACENT PURLIN BRACING PATTERN
(SINGLE SLOPE BUILDING)

BRACE LOC. BRACE LOC.
SEE NOTE 5 SEE NOTE 5 PURLIN

4 BOLTS REQ'D@‘\ i PURLIN
N

NOTE:

THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. [F THE MEZZANINE (S
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.

75\ 7 HFLANGE BRACE /2)
\~ cup cess
o [] L] o | O ] ]

1/2° NUT—~_

oo 172 wr—L5e0 \@
z GE BRACE CLP
o, )
B BEnT N FIELD) TPy 5 FLANGE BRACE

(END BENT IN
ONLY ONE SIDE MAY BE REQD (END BENT IN FIELD)
SEE RIGID FRAME ELEVATION

1'-0"
RIGID FRAME RAFTER ‘r——' /' PURUN PURLIN
FLANGE BRACE CONNECTION AT RIGID FRAME RAFTIER

RAKE ANGLE——— =
UGG C S H

STEP NQ. 1  BOLT FLANGE BRACE TO RAFTER AND ATTACH CPSO CUP TO ° o o
THE UPPER END OF FLANGE BRACE (DO NOT TIGHTEN

BOLTS AT THIS TIME). 1/2" NuT—"]
SEP NO. 2 ROTATE FLANGE BRACE UPWARDS UNTIL CUP IS ADJACENT - / 5 o2
RIGID FRAME RAFTER

TO THE BOTTOM OF PURLIN. POSITION CP88 CLIP DIRECTLY

ABOVE THE LOCATION OF CLIP CP90. FIELD DRILL /16"

DIA. HOLES IN THE WEB OF THE PURLIN AND INSTALL 50°
TWO(7)1/2" DIA. BOLTS. °

STEP NQ. 3 AFTER THE VAPOR BARRER IS IN PLACE,"SUIT® THE VAPOR
BARRIER TO ALLOW THE BOLTS T0 PENETRATE. ROTATE

FLANGE BRACE A0 CUP UPHARDS MO OVER BOLTS. FLANGE BRACE CONNECTION AT RIGID FRAME RAFTER AT END

FLANGE BRACE CuUP
CPso E

FLANGE BRACE
(END BENT IN FIELD)

DETAIL: SPECIAL (BOLTED) FLANGE BRACE ATTACHMENT FOR SIMPLE SAVER ROOF INSULATION

NOO4A

FASTENER SCHEDULE UNLESS OTHERWMSE NOTED, CONNECTIONS BY THIS MANUFACTURER USING
LOC._PAT AR DESCRIPTION LOC, PR MR DESCRIPTION ABGREVIATIONS AS325 HGH STRENGTH %?JLT'is ARE DESIGNED 10 BE FASTENED USNG THE
FRAME ELEV. 322808 HD = FEAD METH ESCRI
0] AS NOTED ON RIGID ATION SCREW 12 X 1174 HH S0 o PT W S = SELF DRILLING COUNCIL ON STRUCTURAL CONNECTIONS SPECIFICATION (RCSC, 6—23~2000),
| (2) |1322B100] SCREW 1/4 X 3/4 FL_TP SD WW St BOLY 1/2 X 11/2 HWIX AS5T WAL & NUT (2668137) ST = SELF TAPPING SECTION 4.1 "SNUG—TIGHTENED JOINTS® (REFERENCE SECTION 8.1).
3) |3228084 SCREW 12 X 1_HWH SD NW 320B170J80LT 1/2 X 1 FLT RD HD A307 PLTD & NUT (26BB007)| S5 = STAINLESS STEEL
(4) |3226101]SCREW 12 X t 1/4 FL—TP SO WW 3228102 SCREW 12 X 2 FL—TP SD WW g :% NOTES:
(5 %@‘/‘“ 4 LG—LF 5D WW 3226006 SCREW 14 X 6 HWH ST 304SS Nw WA - WTH WASHER |y FOR SEQUENCE OF ERECTION — SEE APPLICABLE WALL PANEL 4. THE LENGTH OF THE FLANGE BRACE SUPPLIED AT
%) | 222809 scasv;axvz HWH_SD_NW BOLT 3/8 X 7/3 PPS HD (N/0 WASHER) & NT Nw  z NO WASH ERECTION GUIDE. EAD-ILDCATKNWILL(DETERMIN%H—MCHSTAN?ARD )
7)_|3188185(BOLT 1/2 X 1 1/4 HEX A307 UNPL & NUT (2658126, ) 3188003]B0LT 3/8 X 7/5 HEX HD & NUT (2658008 VX = WEAVY HEX B LAP HOLE LOCATION (9, -8, 2—5 OR 3—8) IS
(8 3188186 B0LT 172 4 13/4 1EX Ko7 WNPL—& WO (o) |G [Szom50] SCREW 174 X 11/ Fl > N UNPL = WNALATED % R0 RO FRAMNG PLIG | o TTRAME GROSS SECTON 0 6 e, REVISIONS DRAWN BY| DATE |OEOE@ BY| DATE |WPROD M| DATE FEVEWDBY| DATE
5) |3185130| BOLT 5/8 X 2 1/4 HVHX AS25T UNPL & NUT (2688101) z S'E WALL PANEL ERECTION GUIDE FOR SCREW & SPACING = ;
3188121 [BOLY 3/4 X 1 1/2 HVHX A325T UNPL & NUT (2688102) ) |3298124] SCREW 1/4 X 1 1/4 HWH SHOULDER SD NW e o o hon R 3. SOME FIELD DRILLING AND/OR FIELD CUTTING OF STEEL A R B aoLE N CIRT e SCALE : NONE WOODWORKING & CABINETRY LLC INLAND BUILDINGS
[ 0D |3188125]80LT 3/4 X HVHX A325T UNPL & NUT (2568102) 4 3226125/ SCREW 1/4—20 X 1 1/4 HWH SHOULDER SO NW LG-LF = LONG LiFE COMPONENTS MAY BE REQUIRED DURING THE ERECTION FOR THE LOCATION. DRAWN BY DJS DAE 5/15/08 |PORTLAND, ME 04102
@ 2200 scew 7+ X 3/4 FL—TP SD_WW FOR ADP1 ROOF 3228126| SCREW 17 X 1 LG-LF ST WW PHPS = PHILLIPS OF THIS BUILDING. CHECKED BY DATE CULLMAN, ALABAMA
3225103| SCREW 1/4 X_3/4 LG-LF SD WW FOR SSR 3228138| SCREW 1/4 X 1 HWH SD_NW ‘ 6. REPLACE STANDARD BOLT (7) WITH SPECIAL BOLT  [orroved By OATE 6S
@ 3228101| SCREW 12 X 1| 1/4 FL—TP _SD WW FOR ADP{ ROOF] 3205@ SCREW 10 X 1 1/2 HWH WOODTITE wWw g WHEN INDICATED ON ROOF FRAMING PLAN. ERECTION DETAILS JOB NO. J:S‘IT. oF
3226104 SCREW 12 X 1 1/4 LG—LF SD WW FOR SSR T REVIEWED BY DATE H1822 14




BRACE LOCATION

BRACE LOCATION |

IN LENGTH AND MAY NOT

SEE NOTE 5

PURUN LAP
2 BOLTS REOD@\

SEE NOTE 5 ‘

PURLIN LAP

NECESSARILY BE THE SAME
ON EACH SIDE OF THE FRAME

NOTE: PURLIN LAPS MAY VARY

/ PURLIN
{

1

CRES
- 7
i *'-
Lo o ol o >0°
., 0%«
| \ & e, °
-
\\ \-,
.

FLANGE BRACE —/

(END BENT IN RELD)
ONLY ONE SIDE MAY BE REQD
SEE RIGID FRAME ELEVATION

RIGID FRAME RAFTER

NOTE:

FLANGE BRACE

(END BENT IN FIELD)
OTHER.

BRACE PLACEMENT

DETAIL: PURLIN LAP & FLANGE

-0

BRACE LOCATION |

(8" GIRT PROJECTION)

2! 2 BoLTS REQD @—\

SEE NOTE S

Y .

RAKE ANGLE o

FLANGE BRACE
(END BENT IN FIELD)

\ RIGID FRAME RAFTER

ONE FLANGE OF ANY 8 DEEP ZEE IS
PROVIDED 1/8" LARGER THAN THE
OTHER. THIS IS DONE TO ALLOW PROPER
NESTING AT LAPS. BE SURE TO LAP

THE 8~ ZEES WITH THE LARGER FLANGE
OF ONE OVER THE SMALLER OF THE

) —

EAVE STRUT

RAKE ANGLE

DETAIL: RAKE ANGLE TO EAVE STRUT

UN

fRUN

&

ANTI-ROLL CUP

o/

d \ o

L—ANTI-ROLL CUP

RAKE ANGLE

DETAIL: RAKE ANGLE TO PURLIN

EAVE smur\
m

RIGID FRAME COLUMN — 4|p

ANTI-ROLL CUP

|
£

\—RIGID FRAME RAFTER

LAPPED PURLINS NOT SHOWN

DETAIL: ANTI-ROLL CLIP FIRST PURLIN UP FROM LOW EAVE

NOTE:

TO SUPPORT
MEZZANINE.

BUILDING AN

THIS BUILDING HAS NOT BEEN DESIGNED

IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS

DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.

ANY LOADS FROM THE

ANALYSIS WILL HAVE TO BE

DETAIL: PURLIN TO RIGID FRAME RAFTER == WITH RAKE ANGLE LAP :
AT END & FILANGE BRACE PLACEMENT 7
PO \-
ENDWALL RAFTER ENDWALL RAFTER
DETAIL: ANTI-ROLL CLIP AT PURLIN LINE
SMUS4A
IREREN]
Wt 11y ,'
<2 O F » ‘.,
- e, 1 Ed
/\\‘\ . G
FASTENER SCHEDULE UNLESS OTHERWISE NOTED, CONNECTIONS BY THIS MANUFACTURER USING
LOC._PART MABER DESCRIPTION LOC. PRI NABER DESCRIPTION ABBEREVIATIONS A-325 HIGH STRENGTH BOLTS ARE DESIGNED TO BE FASTENED USING THE
[©) AS_NOTED ON RIGID_FRAME ELEVATION 9 [3228087 SCREW 12 X 1 _1/4 HWH SD_#5 PT NW . S C%TJ‘:‘%]T%Z‘%NT%%C‘TLERT% oﬁis%%%%o Sg%%ggmg?ﬁgﬁg_’g?gg
2) {3228100| SCREW 1/4 X 3/4 FL—-TP SD WW 9 [3188223{BOLT 1/2 X 1 1/2 HWHX A325T UNPL & NUT (2688137) ST = SELF TAPPING SECTION 4.1 "SNUG~TIGHTENED JOINTS® (REFERENCE SECTION 8.3).
3)_|3228084| SCREW 12 X 1 HWH SD NW 3208170{BOLT 1/2 X 1 FLT RD HD A307 PLTD & NUT (2688007)| S5 = STAINLESS STEEL —/
4) |3228101| SCREW 12 X 1 1/4 FL-TP SO _WW 3228102| SCREW 12 X 2 FL-TP SD WW g T RSN NOTES: (@)
S5) |3228105| SCREW 1/4 X 1 1/4 LG-LF SD ww 3228098 SCREW 14 X 6 HWH ST 304SS Nw WW = WTH WASHER . FOR_SEQUENCE OF ERECTION — SEE APPUCABLE WALL PANEL 4. THE LENGTH OF THE FLANGE BRACE SUPPLIED AT
6) [3228099 SCREW 8 X 1/2 HWH SD NW 2 996011 | BOLT 3/8 X 7/8 PHPS HD (W/0 WASHER) & NUT (2683008) T N0 WasHER ERECTION GUIDE. EACH LOCATION WILL DETERMINE WHICH STANDARD
7) |3188185|BOLT 1/2 X | 1/4 HEX A307 UNPL & NUT (2688126 [3188003[ BOLT 3/8 X 7/8 HEX HD (W/0 WASHER) & NUT (2688008) HVHX = HEAVY HEX _ N LAP HOLE LOCATION (8, 1'-8, 2'~5 OR 3'-9) IS
8) |3188186[BOLT 1/2 X 1 3/4 HEX A307 UNPL & NUT (2688126 3228122] SCREW 1/# X 1 1/2 HWH SO NW UNPL = UNPLATED IO BICE LOCATIONS = SEE FRAME CROSS SECTON 15 gE yseD. LETTER REVISIONS DRAWN BY| DATE |CHCKED BY| DATE |WPRviD B} DATE [Reviwed BY| DATE
9) [3188130|BOLT 5/8 X 2 1/4 HVHX A325T UNPL & NUT (2688101 2 SEE_WALL PANEL ERECTION GUIDE FOR SCREW & SPACING | FLID = FLATED ISCALE : NONE
60 13188121 [BOLT 3/4 X 1 1/2 HVHX A3257T UNPL & NUT (2688102 63 [3228124] SCREW 174 X 1 1/4 HWH SHOULDER SD NW FUaTF = FLAT Top 3. SOME FIELD DRILLING AND/OR FIELD CUTTING OF STEEL - E‘;g?c;g‘rugtrfmfé ggkgg‘fE:{r‘GTﬁR;UggL%D : WOODWORKING & CABINETRY LLC S INLAND BUILDINGS
1) |3188125]BOLT 3/4 X 2 1/2 HVHX A325T UNPL & NUT (2688102) 3228125| SCREW 1/4-20 X 1 1/4 HWH SHOULDER SD NW LG-AF = LONG UFE COMPONENTS MAY BE REQUIRED DURING THE ERECTION £OR THE LOCATION. DRAWN BY DJS DA 5/15/08 |PORTLAND, ME 04102
3228100 SCREW 1/4 X 3/4 FL—TP SO WW FOR ADP1 ROOF | 03 |3228126| SCREW 17 X | LG—LF ST WW PHPS = PHILLPS OF THIS BUILDING. CHECKED BY DATE CULLMAN, ALABAMA
D [assio3|screw 1 /4 X_3/4 LG-LF SD WW FOR SSR 3228138| SCREW 1/4 X 1 HWH SD NwW 6. REPLACE STANDARD BOLT (7) WITH SPECIAL BOLT [,moroven oy DATE BUILDINGS
3 |3228101[SCREW 2 X7 1/4 FL-TP SO WW FOR ADPT ROOF 3208084 SCREW 10 X 1 _1/2 HWH WOGDTIE WW WHEN INDICATED ON ROOF FRAMING PLAN. ERECTION DETAILS w08 NO. |er4 oF
32ZB104{ SCREW 12 X 1 1/4 LG-LF SD WW FOR SSR REVIEWED BY DATE 1822 15 17




RIGID FRAME COLUMN

WIND BENT

OSHA GIRT _CONN

ECTION REQUIREMENTS

SIEP NO. 1
ATTACH FIRST GIRT TO
WTH A (B

PRIOR TO THE SECOND

USE THE FOLLOWING PROCEDURE WHEN ASSEMBLING
A LAPPED BY-PASS GIRT CONNECTION.

1/2°x1" FLAT HEAD BOLT AND HEX NUT.
THE BOLT/NUT ASSEMBLY MUST BE WRENCH TIGHT

STEP_NO. 2
LEAVING FLAT HEAD BOLT INSTALLED, POSTION
HOLES IN SECOND GIRT OVER FIRST GIRT AND

THE PURLIN/GIRT PLATE

GIRT BEING INSTALLED.

/}D(z) REQ'D

y
7

SECOND
LAPPED GIRT

FIRST LAPPED
GIRT

SIDEWALL GIRT
L (FLUSH OR BYPASS)
FLANGE BRACE

(END BENT IN FIELD)

P
[=31's)]
Sl
8|5 ROTATED CORNER
o= COLUMN
Q| w
HE
[ (-] 8" ENDWALL GIRT
(BYPASS)
CONNECTION

PLATE—\ [+ Sli{|o

o
K

FLANGE BRACE INSTALL TWO(2)1/2"x 1 1/4” HEX HEAD BOLTS AND ° o
HEX NUTS IN A DIAGONAL FRONT TO BACK HOLE f
[EAVE STRUT EAVE STRUT PATTERN. A w4 ]
T WND BENT O PURLIN /GIRT \@/ \ Gb
rL — ] ! CONNECTOR 1 PLATE AGSS FILLER ANGLE
1 T i T (FIELD CUT AS REQ'D)
b1 ©
8 + | B ! ! (2) 1/2° DETAIL: GIRT CONNECTION @ CORNER
L—"1 (4 R (3 . / HEX NUT cass
WIND BENT couuggroa 3 REQ'D. 1/2° HEX NUT
151
L | RIGID FRAME RAFTER _
lb e T ! =4+ SECTION B-B | BRACE LOCATION BRACE LOCATION
NOTE: GIRT LAPS MAY VARY
SEE NOTE 5 SEE NOTE 5 IN LENGTH AND MAY NOT
RIGID FRAME COLUMN—= RIGID FRAME COLUMN NECESSARILY BE THE SAME
(SHAPE VARIES) GIRT LAP GRT LAP ON EACH SIDE OF THE FRAME
FILLER ANGLE
GIRT . /[ AGSS
2 REQD / 8" ENDWALL G!RT\ @ AGS5
BT N
-] ° T HEA| (:L
WIND BENT WIND BENT \ © I o
U } L H <
1 {0 -] \
Bl b o < T
= . L . X : £
T ] 1 = NOTE: o
' ‘ I ONE FLANGE OF ANY 8" DEEP ZEE IS ° GRT
ZEE GRT RIGID FRAME COLUMN PROVIDED 1/B" LARGER THAN THE A
OTHER. THIS IS DONE TO ALLOW PROPER 7) /o
l l FLANGE BRACE :‘LANGE BRACEFIELD) NESTING AT LAPS. BE SURE TO LAP ENDWALL COLUMN /o
LAN RA END BENT IN THE 8" ZEES WTH THE LARGER FLANGE .
4 A . (END BENT IN FIELD) ) OF ONE OVER THE SMALLER OF THE ' v Erp E BRACE (WHEN REQ'D)
WIND BENT ONLY ONE SIDE MAY BE REQ'D OTHER. = E?E EBS(;‘WAE‘L ?S&R..Nc PLAN
/ SEE RIGID FRAME ELEVATION BRACE LOCATION
l SEE NOTE 6
RIGID FRAME COLUMN
DETAIL: GIRT LAP & FLANGE BRACE PLACEMENT DETALL. CGIRT_TO _ENDWALL COLUMN
. - . Gz 1 .
GIRT STEEL UNE BY-PASS GIRTS GOO! W/ 1 GIRT PRO\JECTION
PROJECTION 'l \
- SECTION A—A
DETAIL: WIND BENT AT RIGID FRAME COLUMN W/ BY—PASS GIRTS NOTE:
w37 .
W/ 4 BOLT WIND BENT CONNECTOR
THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL
INTEGRITY OF THE BUILDING.
FASTENER SCHEDULE UNLESS OTHERWISE NOTED, CONNECTIONS BY THIS MANUFACTURER USING
LOC. PART MMEER DESCRIPTION LOC. PART NABR DESCRIPTION ABBREVIATIONS A-325 HIGH STE%E_NGWWBOLTS ARE DESIGNED TO BE FASTENED USING THE
D] AS NOTED ON RIGID FRAME ELEVATION 4) [3228087[SCREW 12 X 1 1/4 HWH SD_#5 PT NW HD = HEAD "SNUG TIGHTENED” METHOD, AS DEFINED AND DESCRIBED IN THE RESEARCH
(o) [5258100] SCREW 1/4 X 374 FL—TF SO WW 3 [3188223(B0LT 1/2 X 1 172 HWX A3Z5T UNPL & NUT (2638137) D o 3BF rune R B (S:mgc'ﬁn&gﬁgcgf-ﬁ;”’mw)-
3) [3228084 SCREW 12 X 1| HWH SD NW 3208170|BOLT 1/2 X 1 ALT RD HD A307 PLTD & NUT (268B007)| SS = STAINLESS STEEL _ -
'2) |3228101[SCREW 12 X 1 1/4 FL—TP 5D WW 5228102| SCREW 12 X 2 FL-TP SO ww BT = PoNr NOTES: (@)
(S) |322B105/SCREW 1/4 X 1 1/4 LG-LF SD WW 3228098 SCREW 14 _X 6 HWH ST 304SS NW WW = WTH WASHER I. FOR SEQUENCE OF ERECTION — SEE APPLICABLE WALL PANEL
> = . 4. THE LENGTH OF THE FLANGE BRACE SUPPLIED AT
(6) 3228099 SCREW 8 X 1/2 HWH SO _NW 996011 |BOLT 3/B X /8 PHPS HD (/0 WASHER) & NUT (765008) SN0 masi ERECTION GUIDE. EACH LOCATION WILL DETERMINE. WHIGH S TANDARD ol
(7) |3188185|BOLT 1/2 X | 1/4 HEX A307 UNPL & NUT (2688126) 13188003{BOLT 3/3 X 1/8 HEX HD (W/O WASHER) & NUT (2688008) HWHX = HEAVY HEX 2. FOR FLANGE BRACE LOCATIONS — SEE FRAME CROSS SECTION LAP HOLE LOCATION (9, 1'~8, 2'~5 OR 3'-9) IS ]
%7 3188186 [BOCT 1/2 X 1 3;4 HEX AT WPk WIT (Z006T2E) 2) [3228122 :ECEREW 1/4 X 1 ;‘:(zz s ;JDDEN'F'OR : e o aNLATED " AND ROOF FRAMING PLANS. TO BE USED. LETTE REVISIONS DRAWN BY| DATE |CHEOED BY| DATE |APPROVD BY| DATE [REVEWDD BY| DATE
9) |3188130|80LT 5/8 X 2 1/4 HVHX A325T UNPL & NUT 2 WALL PANEL C il SCREW & SPACING ’_ ASHER N
GO {3188121 [BOLT 3/4 X | 1/2 HVHX A325T UNPL & NUT (2688102) 5228124| SCREW 1/4 X 1 1/4 HWH SHOULDER SD NW ot 2 fear o8 HEAD‘ 3. SOME FIELD DRILLING AND/OR FIELD CUTTING OF STEEL 5. ATTACH FLANGE BRACE TO HOLE IN GIRT WHICH SCALE : NONE WOODWORKING & CABINETRY LLC e "
(1) [3188125|BOLT 3/% X 7 1/2 HVHX A325T UNPL & NUT (2688102) 3228125| SCREW 1/4~20 X 1 1/4 HWH SHOULDER SD_NW LG-1F = LONG LFE COMPONENTS MAY BE REQUIRED DURING THE ERECTION EggTT:'E‘SLO“SED%:"GE BRACE LENGTH SUPPUED  Iprawn BY DJS AT 5/15/08 | PORTLAND. ME 04102 A INLAND BUILDINGS
3228100[ SCREW 1/4 X 3/4 FL-TP_SD WW FOR ADP1 ROOF 3228126 SCREW 17 X 1 LG-UF ST WW PHPS = PHILLIPS OF THIS BUILDING. - GHECKED BY DATE ’ CULLMAN, ALABAMZ
2 IS5sio3lscrew 1 /4 X 3/4 LG-LF_SD WW FOR SSR 3228138| SCREW 1/4 X 1 HWH _SD NW 6. REPLACE STANDARD BOLT (7) WITH SPECIAL BOLT [ooo oo = DATE BUILDINGS
3228101 SCREW 12 X 1 1/4 FL—TP_SD WW FOR ADP] ROOF| @) (3208084 SCREW 10 X 1 1/2 HWH WOODTITE WW WHEN INDICATED ON ROOF FRAMING PLAN. J08 NO. SHT.  OF
;@ 3228104| SCREW 12 X 1 1/4 LG-LF SO WW FOR SSR _ _ REVIEWED BY DATE ERECTION DETAILS mezz | 1g 17




SAP8DG250-00
FIELD CUT AS REQ'D

TOP WALL
GIRT

o

BOTTOM WALL
GIRT

&

TYPICAL CONNECTION /’EAVE STRUT
AT EAVE STRUT
®\_ @\

TOP WALL
GIRT

~\

ENDWALL RAFTER
OR MAIN FRAME RAFTER

TYPICAL CONNECTION WITH
ENDWALL BEAM >1'-0

SAG_STRAPPING
/ SAPBDG250-00

BOTTOM WALL
GIRT

@/1

e

JAMB HEADER CLIP CP148 ~
\ /_ JAMB
AN |

TOP OF STEMWALL

/—DOOR JAMB

[
& P CP206 (8" JAMB), CP207 (10" JAMB)
S FIELD DRILL 5/16" DIA. HOLES IN CUP
3 3/8" X 1 SCREW PHLPS H.D. 996292
: v
A L
= FINISHED FLOOR
” 4 /'
. R
1/2" DIA. ANCHOR BOLT— - - 1/8

JAMB WIDTH ~3V [
PLUS 1/8" \F—

OPENING WIDTH

-——1¥EAVE STRUT
FIELD DRILL
e / 9/16"¢ HOLES
l cLp
TM cP149
l -
FIELD DRILL (5
9/16"% HOLES ~L0_2‘l
4 CHANNEL (FIELD CUT AS REQ'D)
DJ-101 (8" HEADER)
N ]
A A —
FELD DRILL /@@ 12 CTRS.
9/16"¢ HOLES B ° j | ]
CUP CP149 ] X L
« ]
—X—  SECTION "A-—-A"

DETAIL: JAMB BASE CONNECTION @ STEMWALL

OPENING
WIDTH
JAMB -
JAMB_CLIP @/@
CP149 \
N

7 <

SECTION AT BASE OF JAMB

8" GIRT-\ JAMB

-]

GIRT
A4

yd

CP149

GIRT CUP
CPg6

OPENING
WDTH
SECTION_AT GIRT
BETWEEN HEADER & SItL

{ JAMB CLIP —/

JAMB—/‘V “

o

|_OPENING
WIDTH

SECTION AT TOP OF JAMB

(WHEN REQ'D)
HEADER CLIP CP148

L~ SILL

/@/.

JAMB\ [ / HEADER
I . 2
4‘ S
1 7 @ 0

<)
=
z
o
[«

s

/

HEIGHT

®\1

HEADER CLIP CP148

/—HEADER
7

FIELD DRILL
8/16"8 HOLES

NOTE:

INTEGRITY OF THE BUILDING.

THIS BUILDING HAS NOT BEEN DESIGNED
TO SUPPORT ANY LOADS FROM THE
MEZZANINE. IF THE MEZZANINE IS
ATTACHED TO THE STRUCTURE OF THIS
BUILDING AN ANALYSIS WILL HAVE TO BE
DONE TO INSURE THE STRUCTURAL

TORSION SPRING SUPPORT DETAIL

DETAIL: GIRT SAG STRAPPING TO EAVE STRUT & GIRTS @ \ ﬂ \@ o5 Wiy,

= L = Ay
013 L SILL JAMB ?% ‘s

h 7
OPENING -~ HEADER CLIP CP148 OPENING °
WD TH DTH
SECTION AT St SECTION AT HEADER
SILL SHALL BE NO CLOSER THAN 8" ABOVE GIRT HEADER SHALL BE NO CLOSER THAN 9° BELOW GIRT
OPENING IS TO BE FIELD LOCATED, FIELD CUTTING & DRILLING IS REQ'D
pQ30 e
FASTENER SCHEDULE UNLESS og,‘tmms él&r?&%mﬁcgguss ag) %SBIEM;{UFACTS)REIR sﬁgrﬁ

LOC. PAET NABRR DESCRIPTION OC._PAT NMER DESCRIPTION ABBREVIATIONS A—325 HIGH STREN GN ASTEN E

1 AS NOTED ON_RIGID FRAME ELEVATION 3 |3228067 SCREW 12 X 1 1/4 HWH SD 5 PT NW W = READ SNUG TIGHTENED® METHOD, AS DEFINED AND DESCRIBED IN THE RESEARCH

() |3225100] SCREW 1/4 X 3/4 FL—TP SD WW 31 BOLT 1/2 X 1 1/2 mm%jﬁsi—’ D - EFpuee GOUNCL ON'STRUCTURAL CORNECTONS SPECFICATION (RCSC, 6--23-2000),
-Eg_mmumuxluwsnw 3208170{BOLT 172 X 1 FLT RD HD A307 PLTD & NUT (2688007)| S5 = ST SECTION 4. JOINTS” (REFER )

'4) |3228101] SCREW 12 X 1 1/4 FL—TP SO WW 3228102| SCREW 12 X 2 FL-TP SD WW B zH NOTES: @) T

5) |3228105| SCREW 1/4 X 1 1/4 LG—LF SD WW SCREW 14 X 6 HWH ST 304SS NW W = WTH WASHER 1. FOR SEQUENCE OF ERECTION — SEE APPLICABLE WALL PANEL 4. THE LENGTH OF THE FLANGE BRACE SUPPLED AT () 1
[ (6) |322809 SCREW 8 X 1/2 HWH SD NW BOLT 3/8 X 7/8 PHPS D (W/0 WASHER] & NUT (2688008) | MW = NO WASHER ERECTION GUIDE. EACH LOCATION WL DETERMINE WHICH STANDARD
1 (7) 13188185]BOLT 1/2 X 1 1/4 HEX A307 UNPL_& NUT (2588126 188003{ BOLT 3/8 X 7/8 HEX HD & WT P = ATy Hex 2 FOR FLANGE BRACE LOGATIONS — SEE FRAME CROSS SECTION LAP HOLE LOCATION (9, 1'—8, 2'~5 OR 3'—8) IS Q

8) }3188186]B0L /: ] z "}eum? “&Ltm mﬁ 3 32281 gm :A:E:. 1&!52(:17!:' SD NVFIOR - P"_N% g UNPI‘EABYED AND ROOF FRAMING PLANS. TO BE USED. REVISIONS DRAWN BY| DATE |CHEKED BY] DATE mm DATEM BY| DATE

5) |3188130{80C AT Y X GUIDE_FOR_SCREW - "

3188121 [BOLT 3/4 X 1 1/2 HWKX AI5T UNPL & NUT (2588102 3 [3228124] SCREW 1/4 X 1 1/4 HWH SHOULDER SD NW T = o Jor ™ HEAD! ; SOME FIELD DRILLING AND/OR FIELD CUTTING OF STEEL R N B R e, SCALE + NONE WOODWORKING & CABINETRY LLC % INLAND BUILDINGS

i BOLT 3/& X 2 1/2 HVHX AZ25T UNPL & NUT (2688102 9 3 SCREW 1/4—20 X 1 1/4 HWH SHOULDER SD NW LEF = LONG UFE COMPONENTS NAY BE REQUIRED DURING THE ERECTION Fon THE LOCATION. DRAWN BY DJS oATE 5/15/08 PORTLAND, ME 04102 y N
I~ |322B100] SCREW 1/4 X 3/4 FL_TP _SD WW FOR ADP1_ROOF 13228126| SCREW 17 X 1 LG-LF ST WW = OF THIS BUILDING. CHECKED BY DATE hafN CULLMAN, ALABAMA
@ [5moa|scRew 173 % 3/4 LGLF SO WW FOR SR 3228138| SCREW 1/4 X 1 HWH SD NW 6. CE STANDARD BOLT () WITH SPECIAL BOLT [Looo=rr=ow Y= — BUR DINGS

3728101| SCREW 12 X 1_1/4 FL—TP SD_WW FOR_ADP1 ROOF| 3208064 SCREW 10 X 1 1/2 HWH WOODTITE. W WHEN INDICATED ON ROOF FRAMING PLAN. 508 NO. s oF
3 3258104 scrEw 12 X 1 1/4 LC-LF SO WW FOR SSR REVIEWED BY DATE ERECTION DETALS H1822 1717

|



